
���������	����
�����
���������
���
���������������
����	���� !�"�#��$�
��
%'&�&'&�(�)�*�+�(-,/.�(10'*�2�2#314'&

5 6"798;:=<?>A@9@CBD8?BFE;7�G?>AHJILKNMO8AP	BQM?EN>DP	BQ6RMDEDP;P�798A<?>N@TS
>?EVUL8XWFMZYO:C>O8AP	BQG?[ P\8]P�798A<?^ ^_>O8`:a<;P	BQ6\8cbdEN>`Be8�M?E

6fUg6"Yh^i<?MN>NHj<k^_>O8Xl�8m8FnXM?EVom@ep

qNrtsirAuTv�wZx�wZy{z
|;}�~��O���e�����`���?���;���O���#�m�\�{���-��������}��

�����O�1�������?��}�������~����������������"�;�1��� ��¡#¢#£#¡#¢ �Z�-��������}��
¤ )#¥#)�¦�§©¨�ª�« )�¬�¨�­�®�¥N¯A°�±�²�¥�³�´�­1µj.�2m²1±'³ ¥#¶�° §�.�4�4'2T·¸ª�²�¥

¹ °#±�²�«�)�¥�¯�®1±�º�¥?»`* »`*½¼-ª�°�­'«�±�º�³�ª

¾?¿�¿�À�Á�Â�Ã'Á�Ä�¿�ÅTÆ�Ç�È�É�À�Á�ÊÌËFÍ'À�È#ÎmÁ�Ï�Ð1ÅTÄ�È�Ä�Ë�À�Ñ'Ï�ÒZÓTÆ�Ç�È�¿�Ä�Ç�Ë�Ï�¿ Ä�ÍNÇ�Ë�¿�¿�À�È�Á�Ï�Ð�Ô
Ï�Ë#ÂÕÈ�Ö�Ç�Ã�ÎQÏ�È�¿�Ä�Ñ'×Ø¿ ÈX¿�À�È'Á�ÊdÊÙÏ�È#ÎmÁ�¿ Ä�Í�ÈTÚ?Ë�Ï�Ä�È'Ç�ËgÛÜÇ�Ë�¿�¿�À�È�Á�Ï�Ð�ÔÞÝDÈ'Ï�Ä'Ç�Å�ß�Ð1à
Ï�Ë�áâÍOÂ�Í'Ã1ÊÙÁ�Ç�Ï�Ò;Á`ÊÙÏ�È�ß�È'È�É'Ç�Ë'ã�Ð1Å½ä�ÝDÈ#À�Ã�å�Á�Ï�ÈVÂ�È�¿ Ä�Ë'Ä�È'å�Ï�È'ÁZÃ�¿�À�È�Í'Ð�Á\Ä�È�ß�È�æ'å�Ä�È
Â�À�ÅçÄ�È'Ä�Ë�À�Ñ�Ï�È'ß�È©Æ�Ç�È�¿ Ä�Ç�Ë'Ï�¿ Ä'Í�Ë©èCÇ�Ë�¿�¿�À�È�Á�Ï�Ð�Å�ÝDÈ�Ï�Ä�Ç�Å�ß�Ð�Ï�Ëêégëfì�èêíïî�í�ð{ñ ò
Ï�ÁN¿�Ã�óFÁ�¿�Ä�Í'Ã�Á�ÄhÂ�Í'Ã1ÊÙÁ�Ç�Ï�È'ß�È9ÊÙÏ�È�ß�È'È�É'Ç�Ë'ã�Ð1ÅgôöõmÐÕÍ�À�È#ÎAÁ�Ï�Ð1ÅÕ÷ùø�èûúRôöõ'æ
Ë9Ä�Ë'Ö1ÎmÁQ¿ Ä'Ç�È'Ð�Ä�¿�ÅgüFÐ�Ç�È'Ö�Ð�ÔÞÖ1À�Ë�¿�¿mÆ�Ç�È�¿ Ä�Ç�Ë'Ï�¿ Ä'Í�æ-Ö�È'Ä�È�Ç�Ò;ÁAý�Ä�È�ÊÙÃêÃ�¿�À�È�Í'Ð�×
Ã�Â�È'Í'À�Á�Ä'Í'È'Ç�Å�×OÄ�ä

þ"ÿ ���������	��
��


����	�������	��������� �"!$#%#'&	($)+*	,�).-0/%���1��2	�$��3%4��%5	6�����78��2	�$9�:;�<4���=>�<?A@CBEDGFEHIFKJMLN�
O =�P1DQ�RJS-S���$�	�T5�� O ���	P%U+:��	PM��2	��U+��2����	U+��4;���V����3%W�4;�$P%��WXPMU%���$��4�P+��U+��4�P+���	�ZY<(\[
Y<!T&	]�*�^I_a`��>(\#%Yb�"!$*	#%Y1c�(%_d�fe�!hg�(�i��	�jHlk;DnmoJp-0�	P+��2	P+2�W�4��	��P��$����q$2���rsP+���	P��
����3%W�4;�$P%�t��Pu`$�>($)+v�w	,�)+i�2��$U%UK5���P+����7s?�xzy�5	7���2	�$��3%4��%5	6��	�$9<���$��:��1{j|8J}���	�TrsP%U+�$~
4���H��z�hB�{%L.��Da����3%W�4;�$P+��UK7fU�5���P%��2��$U%UK5���P+����7l?<���\=l���$��:"�$9f{1�EU%��xz�����	U�xz�T�\���Nx
�1�V���$�����t�;���������A�A� #%Y<]�� �¡v;!�*�Y ('�>($c�(¢_£*	(\¤¥)+#%Y1c\(§¦¨(�`$�©)+ª$)K&�)+*	*�(�)N«j*�!�[

`$�>,¬_�)­��«�cA®­¯�«�#\°u¯;¯¬±³²­´h«Vµfk;�Zmo�n� ¶'(%_�)+(%_£('�¬·t,�g%_s°�¸�!$#%#'&	($)+*	,�)j?l*	!$ªM(�v+� � ¤¹[
*	(�#%Y<]�ºd» � #%(<#'&�(�)K_¼�t«�`�(\#%Yb�>($)+*	*	($)u`	(�µV«�*	!hg�^�c�!�)+Y<#'½¢�"!$#%#'&�(�)+*	,>)K_ � (�*	Yb��½	[
¶¾,	*	!A®³¿�²T°

À��%5�P%P§�	�%=	2	��q$�	��Á¥���Â��2"7��t���Ã��2	�$��3%4�PN=�P+�����CÄÆÅ���� O =�PÇÄa@ È É�FTÊNË��ÍÌf�
4�4��%=	����U'7f�$���	�$Î<P+���	P /%:�4���4;�\5�P+�����	��U+����x�Ï�:�4���4;�\5�P+������WX������q$Ðz7¬4$5	7�Ñu��UK78���$��:��

0ÒÔÓ * »`* ¹ ª#®�¬�®�§\Õ�(�%�&'&�&



���������
	���
�
�����������������������������������	���
�� ����������!#"�
��$�
�&%'�)(�*+	��'��,-	.*/����"0����1����)23
�!

4 Ê)5¢Å 4�6 5 � 4 É75 Å 4 µtB 6 L85;x:9uq��$3%���T���	� �	P+2	P+3<;>=A��:����$2�~¨��2	��U+��2����	U+��4��R��2	��U+�$~
2����	U+��4;� Ä Å8�Â�	�¢/%�����/?R�$���	�$Î<P+����Ñ x�@�2	��P+:�A���7 H§k$; m »���3h�\=>�$P+��UK7�U%���$���	��~
Î P+���	P%�RH�B�BCB¾F 6 L�L�@DB�=�5	7�4�U%P�E����$�	P+:ÇBCB¾F 6 L.|F;ÇxHGI� O =>�M?A@CBI;lFEHVF¾»��+LNx
@-?�U+��6M?A@CBI;8FEHIF¾» � L�- 2��$U%UK5���P+���	P&@£�$����2"7 O ���������	��U+��2	��P+���	��P��	� O ���tP%���t�$2�~

=£��3T�/?�µ�kV�dm ��x¢
�� P O �l���$�h�\5	6��	��� ��2	��U+��2����	U+��4�P<; �t�Tr1�	�83h�\=>����68P%U+��P%U+�$~
4�P+����?"ÑpU+��2�?¬:���?"2�?��	�$���$:;�
J'K�k7; mL; ��2�� �	���t�0Ms�RU%���$���	�$Î<P+����7NJ'K�k©BIO�F 6 L�m
B 4 BQPRO'5�F'µTS KVU B 6 L�LNx �XW>=�P%U+6¥È B­Ë¨F 4 B85f-YA	PN5>��7���=	2	��q$����7 ���$U+���d���	U�5>�§U%���$��4�P+��U+�$~
4�P+���	��x �¼Ï����$�f�	�$���$:§����3%W�4;�$P+��U'7 #%`>)+w	,	!T&	];*	^I_¡`	(�Y<(\v�(%_Ã� Z$� �V�	��U+��2	��P+����WX� �	�
O ���tP%���t�$2[=£��3T�/?fµ§k��Çm ������5	�����$q�U+��2���:����	�$9>�sª\,�*	!T_£,[\�)+#%v�(�iZ#%,	#%Y1)K_£(�i � (�*	[
Yj��½�¶¾,	*	!1� �\� x
]�3%4�P%U+����W�U�5[?¬�����l����2��	�tP+2 y ����r^?;�����	�$���$:��
_£P+2�2��1���b���$2	Ph�N��:¬� O =>����2��1�$����~

UT������� �	�$���$:;� ����=	4�?��tP+2��	�������	� O ����q$2���3%���l:�5	Ñu�	P+4�?¬Ñ 2	�%5	61� O 2��$P+�MP O � �	�$4�PN=�PN~
���	P£���<����4;��2����������	���Â�	�T=����	�Tr P%U+��4�P�� O ���tP%���t�$2[=£�	�������$�h�\5	6��	���/? ��2	��U+��2����	U+�$~
4�?¢2��$U%UK5���P+����7`@£�$����2;7 O ����������2����	P%��� O 2��������	P+���	PA�	�$���$:;�<��� /%���<����4;��2����������	��P
���	�TrsP%U+��4�� U%�$��2;7�r P+�	�¢U%���$��4�P+��U+��4�?¬ÑaM<P+9 =	�����$�����	P%U+:¬�$9fU+�	U+��P%�tP&@£�$����2;7 O ������x
b}U+4�7�3%� U£/%���	����2	PN=�U+�h��4$5	7�Ñb��U'78��:���?;�\5	6���WX���RU�5�PN=[?¬ÑaM �	P£3h�\=>�%����Á
�h� ��2	��q�5�P%���p:�5>�$U%U+�[=£��:;�)A����S=	�����$�����	P%U+:��#E U+�	U+��P%�c@£�$����2"7 O ����� �EU}���$��~
�	��U+��6�Ñ¼=��MU%�$��2;7�r P+����7	��d

e ���$��WXU+:;�����	P.:�2�����P+2���7 ��2	�%=��%5	rA�$P%�t��U+���M=	�����$�����	P%U+:��#E U+�	U+��P%� @£�$����2;7 O �����
=��<�	�$���$:¬�$4G��� =	4�?��tP+2���WQE ���	� O ����q$2���3%��7fEz�

� ��P%U+�	�MU+4�7�3h������WXP�U£���	����Á
��� :�5>�$U%U+�[=£��:;�)A���7l���$�h�\5	6���WQE ��2	��U+��2����	U+��4¢2��$U%UK5���P+����9�@£�$����2"7 O �����f�EU£���$��~
�	��U+��6�Ñ¼=�� O ���tP%���t�$2[=£�	��U+���8�#E :;��: ���$�	�T5�� O ���	P%U+:��#El��2	��U+��2����	U+��4"��d

Z"���$��WXU+:;�����	PÆ:�2�����P+2���7 4$5��Tr1�	�t��U+��� ���$�h�\5	6���WQEn��2	��U+��2����	U+��4 2��$U%U�5���P+����9
@£�$����2"7 O �����M4<=	4�?¬�tP+2���WXPs���	� O ����q$2���3%��7zx

bQ���$U+���h77M<P+9¹2��$q��$��Pl��2���4��T=	����UK7d=���U+�h�����$���	��P ?�U�5��$4��	Pf��� O ��������� =�5	7�����~
�h�\5	6��	� O �£��2	��U+��2����	U+��4;�g; 2��$U%UK5���P+����71?s@CBI;lFEHVF¾» � LI�	P.U3?7M<P%U+��4�?�P+��=	4�?¬�tP+2��	� O �
���	� O ����q$2���3%��7`hRij� 4$5��hrsP+����7:jdkk; mlhmi������h��:�r P£U+��2	�$����UK7�Îs��2	�$:���9�:�5>�$U%U
��2	��U+��2����	U+��4	��:¬�$���$2�WXP�/%�����/?n?�U�5��$4���Ño?$=��$4$5�P+��4��$2;7�Ñu�\x

p;ÿ q§�[r/s�t�s�uwvl�yx���s{z|x#t ��}~u|}�x�xk�|s�����
wz���s��|t'uT�w�¬
��|}
� ���$���/�f���;���V� ���A�A� #%Y ]Z?¹@ BI;8FEHIF¾»��+L��¡�"!$#%#'&�(�)+*	,>) � (�*	Yb��½>¶',	*�!\«1`	(�[

#%Yj�©(�)+*	*�(�)A`	(G¶¾(+_A)+(+_�(K�¬·�,¬g%_ � µRk���m ��«�J K k#; mY; � #%`>)+w	,	!T&	];*	^tiR`	(\Y<(�v�«
`	(\#%Yb�>($)+*	*	^tif`	(sµ�° �A� #%Y<]n�p�¥» � �Q#Tc+½�g�*	($) (\Y<v+�©^tY ($)�_£*	(\¤¥)+#%Y<c�(\«�Y<!$v�(�)
\"Y<(^���f�%B¨».���-�£L��@��"«�,�# �k� )+#%Y1c � )+Y ¶¾(+_A)+(+_�(K�¬·�,¬g%_��dk{�pÅ8��m H��z�hB���L'«Xª+&¬½
v�(\Y<('�>($¶'(�H�� � @ÇH����C¦ H�� � k#�nÅl�fmc� � `$�>($)+v�w	,"½�´�°� �>,n�\Y<,7� � #'&	($c�,"½7�lª%&"½ &�º�e�(�¶¾(�_£*	(\¤¥)+#%Y<c�!Mc�,	ª�!��¹Å 4 H�B�5G*	!$i	ª$)+Y #'½8Yb�"!$[
)+v�Y<(K�>,¬½ 4 J K BI�"L85 KI� Ì `	(�Y<(\v�!�J K «�ª%&"½Zv�(\Y<('�>(�i<��B�� Å 4 H�B85�L�� 4 J K BI�¬L85 KI� Ì °

� ¥#)�±���¥#)�­� �±�«�³ ¥�§-¡m­£¢�­1³ ¥1(�¥�º#¥�®!­£¢�(�·¸±�ªk��±�)'°�­�§©(1%'&�&'&�(�)�*�+�(�¤'¥¦¦ . §k¨



��� ��� �����7(���!��

yd�j:s��3����jP�5A6jU��X4j��x @£�j�	��U+��2	��P+����Ñ��	�$���$: 4 J�K 5���q�5>�\=>�$P+�uUK5�PN=[?"Ñ.M �	���
U+4��$9	U+��4;�$����Á
�h�¢��2�� 5	Ñuq����~�G|`;Ô�$����q$2���rsP+���	P��
	£k�Ì ml;8F���	;BCBKL�@�J K BI�"L.�	P+��2	P+2�W�4��	��d
e �AH^�
��	�BCBKL�@§H^�
��	�BCB�P¹ÊhL�=�5	7�4�U%P�ENB.|lÌFd
���AH^�
��	���� K�� K�� � U k>BCBNF B�PdÊNËzm »���4�3h���	���	��~ �%=	�	�$3%���T���	����2�� 5	Ñ�q���� B.| Ìfx
�s��:¬U+��2�?�P%�����$��:�? 4�� 5sÅ 4�6 5s| � Å 4�6 5;x+9uq��$3%���%���	� �<@ ��B 4�� 5<Å 4�6 5�L�|:;Çx

���$U%U%�t�$��2��	�}��2��$P+:����$2���Ñ 4 J�K¾BI�"L85 KI� Ì /%���$9R���$��:��R�Z�$����q$2���rsP+���	P�� 	 k�Ì m ;Çx
��U+�	����������� 	 BEÌ L�@ 4 J�K'BI�"L85 KI� Ì x�s��:¬U+��2�?�P%�C���$��:�? ��� | �����hB¨».�+� �£LNx�@-?�U+��6 B � |CB HN��� 	 L'�z�\B ��� L�- �%=	���Æ��3
��2	����q$2���3T�$4����$��:��R� � x ]�3 e � � ���¢�	�T5[?"���	���£����� ��� @ H ��� 	 B��

 ��!
4 B � P#"$5�LN�

� �¥H<�$� 	 B��
 ��!

BCB � P%"©F B � P%"
PnÊhL�LNxFG���:§:;��:y�R@&� 	 BEÉ;L�� HN�$� 	 BEÉ;L @ � | �<�
���¢����9�=�P+��UK7'" � | ! �>�h��:"��P ����� É�|ÂBCB � P(" � F B � P)" � P¥ÊhLNx�y�5	78��2	��U+���$��WCq0?$=�P%�
U+�����h����6*" � @¹É�x

���9�=�P%�,+�-�É���=�5	71:"�$���$2	� O �jH��.�
	"BEJ$/$BCB � L�L���H��.�
	;BEJ$/�BCB � PZÊhL�Lt2��$U+�	�%5��hrsP+��W

4 ���f�hB¨» � ���£LNx~9uq��$3%���%���	�&0n@ È B � P /
i F B � PaÊ21

/
i Ë �30 � @ BCB � P4+�F B � PCÊ�1(+$LNx

���$U%U%�t�$��2��	� �$����q$2���r P+���	P

5¼@ÇH��
� 	 �76	k80fm » �:9
Ï���� �$����q$2���r P+���	PM�	P+��2	P+2�W�4��	� �Z����Ð�P+:�����4��	��x GV��:�:;��:;0Æ-¡:"��������:��\�V���<50-
O ���tP%���t�$2[=£��3T�����<U+4��$9l��q$2���3�x+9b����q$2���r P+���	P

5 � @=5>� 6@? k80 � m » �
�h��:�rsPA7�4$5	7�P+��U'7 O ���tP%���t�$2[=£��3T�t�������1U+4��$98��q$2���3�����2����	P%� �n�(5GBA0 � LN���\x P�x
B @
5 �z�� B���Lf@C5 �z� B���L��D0 � x 9b��U+Ñ�=>�Ç3h��:�5	Ñb���$P%���u�����)B - �$��:�2�W�����P�U+4�7�3%�	��P
�	�%=����	�hrsP%U+��4��1������P+2�4;�\5>��0 � ���AU�5�PN=��$4;����PN5	6��	�����GÌ �N�;=�5	7M:"�$���$2	� O �jHa�E� 	 BFB<Lt@
�¼�G��	�BFB L.�ZH��z�hB���LNx

���$U%U%�t�$��2��	���	P+��2	P+2�W�4��	��P �$����q$2���rsP+���	P
H�� i �Q� �z� �
� 	 �7H.k�Bnmo� 9

�XW>=�P%U+6£H�� i k#� Å �RmÔ�Z- ��2	��P+:�A���7zx �
I �%=	�	�$9 U+���$2	�$��W���É1|GBa��Ì � H�� i �|���z���J� 	 BEÉ;L�@§H�� i �w���z�\BI�"L�@§H�� i B 4�� 5�Å4�6 5�LZ@ 6 x I =	2�? O �$9¥U+���$2	�$��W���H$� i �����z�.���
	�BFB LG- U+4�7�3%�	��PR�	�%=����	�hrsP%U+��4��

:;�������$2	�$4;�Æ���	�Tr P%U+��4;���Q��:;��:}��q$2���3ZU+4�7¬3%�	� O �����	�hrsP%U+��4;��� ���bU�5�PN=��$4;����PN5	6��	���
U%��U+���$���G��3��T=	�	�$9l���$��:���x�@£�$/%�����/?`���z�T�
� 	 BFB<L�� � Å 4�6 5;x

£�8�h��:§:;��:lHn�$� 	 BFB Ls@ �<�I���l=�5	7Z5	Ñ�q�� O � �LK | �Q����9�=�P+��U'7 B1|4BM���h��:¬��P

�����GH<�$� 	 BCBKLA@ � K � ���z�|�$� 	 BCB�Ls@nH�� �z�� B � K LNMÆB�� Å 4�6 5�L @ 4�� K 5GÅ 4�6 5;���$��:�?$=>��nÅ 4�6 5A�����z�T�
�
	�BFB<LNx

§PO � ¥#)�±£��¥#)'­� �±�«�³ ¥�§g¡F­£¢�­1³ ¥1(�¥�º�¥�®!­£¢'(�·�±�ª���±�)�°�­�§ê(�%�&'&'&�(�)�*�+�(�¤'¥¦¦ .



���������
	���
�
�����������������������������������	���
�� ����������!#"�
��$�
�&%'�)(�*+	��'��,-	.*/����"0����1����)23
�!

b������ O P��	�%5[?¬���	���������&�fÅ 4�6 5�@ � �z� ��� 	 BFB<L���5	��� �z� B 4 J�K'BI�"L85�KI� H L�@R�RÅ 4�6 5;x
@�2	PN=�5��Tr P+���	PA=��$:;��3h���	��x

� ���$���/�f���;���V��� �A�A� #%Y ] ?�@ BI;8FEHIF¾»��NL'«�J K k'; m ; �¡Y1)<¤¥)N« \"Y<(�,Æc
`$�©)+ª%&	(\¤¥)+*	,	,R±;°
�1&"½Z&�º�e\($¶¾(¢*�)+`��©)­�>^�c�*	($¶'(¢,	*	];)+v�Y<,�c�*	($¶¾(G(�Y (�e'�"!�¤})+*�,"½��Æk©»��um ; ¦­)+#'&	,

Y !$v�($)1# �k� )+#%Y1c � )+Yb´M_£*�(h¤¥)+#%Y1c�(��tB¨» � L #%($c�`	!$ª\!�)+Y #M(�ª\*�(\i�,�g�`�)­�>,�(\ª�,[\�)+#%v�,7�
Yj�¬!$)+v;Y ('�>,	i8`	(�Y (�v�! 4 J�K 5¬°

yS�¢:��¢31�G� Ps5Z6 U ��4 ��x ys�$:;��rsP%�}U+���T���\5>��������� ����9�=�P+��UK7R��2��$P+:����$2���7
4 J'K'BI�"L85 KI� Ì �	�h��:;��7 �������tB¨»��NLX� 4 J�K¾BI�"L85 KI� Ì xQ@-?�U+��6��tB¨»��NLEM 4 J�K'BI�"L85 KI� Ì �@ �1=�5	7
�	P+:"�$���$2	� O �n��|�;Çx 9uq��$3%���%���	�d�	P+2	P+3��C� »��b���	�hrsP%U+��4��	�I�z�hB 4 J K BI�"L85 KI� Ì LNx @£�
�	��U+��2	��P+����Ñ
���@ ��xw@�2	PN=	�	�%5��Tr1�	���©������� �@¥» � x
�l�	�hrsP%U+��4��
��� @������R�&���f���Ã�	Pl��?�U+��� ��4���2	�$����4��	���0U�5[?¬���$Pf�$:�2�?"r1�	��U+��6

2��$U+���\5>�$U+68q$Wp���¢=	4�P1:¬�����	�$�	P+����W U+4�7�3%�	��U+���Æ» � @����ÇB¨» � ����L��Nx*�s��:"U+��2�?�P%�
O |����n�d».�h���1@��tBIO�LNx
GV��:Æ:;��:Ç2��$U%U�5���P+���	P ?f@ BI;lFEHIF¾» � Lu- 5��$:;�\5	6��	��~¨��2���4����\5	6��	��������9�=[?"��U'7Ç�$�$~

:�2�W��h��7 �$:�2	P%U+���	��U+��6 � � »�� ���$��:�� � @ H�B���L�@ÔH ���tBIO�L � O ���tP%���t�$2[=£��3T�
�Çk#� Å¢�RmÃH��z�\B��£LN�¬�h��:¬�$9 ����� �"! � @§H&�w�Çk#� Å �fmc� ��3+=�P%U+6#�"! � k#� Å¢�Rmc�- ��2	��P+:�A���7	�Nx$�8�hr1�	�8U+�����h����6	�������f���	�Tr P%U+��4���� U+4�7�3%�	��P¢�����f�hB¨» � � ��L<�@ ��x
b���2	�$����4��	���ÂUK5[?"���$P£P O � 4�U%P O =>�1�t�Tr1�	��?��tP+��6�Îs����6	�	3h�$�tP+����41���A�	�T=����	�Tr P%U+��4��
U+4�7¬3%�	�$98:"�����	�$�	P+����Wn���	�TrsP%U+��4;�`� ��U%�%=�P+2;rA�)M<P%P����$��:�? � x
@-?�U+��6F���z���%��BIO�Lu@ 4�� 5<Å 4�6 5¢|~�aÅR��x�b.WXq�P+2	P%�}U+4�7¬3%��?¬Ñ �$:�2	P%U+���	��U+��6lJ

���$��:��<O |8».�h�;�h��:�?¬Ñ}������H.�&��BEJML�� �<x'�l�	�hrsP%U+��4��bH�� i �T���z���&�tBEJ1L����8U+4�7�3%�	��ÂU%�%=�P+2;r1��� ���$��:�? 6 x I 5�PN=��$4;����PN5	6��	���VH�� i ��� �z� �(��BEJMLM@ 6 �~� �z� �(��BEJML ��aÅ 4�6 5;x I � O 5>�$U+�	� ��2	PN=�5��hrsP+����Ñ �<����9�=�P+��U'7Z��2��$P+:����$2���7 4 J K BI� K L85 KI� Ì �	�$���$:;�
J'K k+; m ;Ç��U%�%=�P+2"rA�)M<��7d���	�TrsP%U+��4��)�tBEJ1LNx¹Ï�����3%���T�����\������� J �*� ��P%U�5	�
4 J'K'BI� K L85 KI� Ì @ 4 J'K'BI�"L85 KI� Ì �"��5	� J0�¼B¨»����'�£L�4<��2	�$����4��	����U�5[?¬���$P�x�@�2��#E;�%=	�	��:
��2	�$����4��$2	P+����ÑpU£��P%���������#� �@¥» � x
]��h��:��u����9�=�P+��UK7 � | ;§�X=�5	7¹:"�$���$2	� O �+�tB¨»��NL � 4 J�K'BI�"L85;x @�2	PN=	�	�%5��hr1�	���

�����Z��2��$P+:����$2���7 4 J K BI�¬L85 - �	P+�	P+2��	�T=	���	P%U+:;��7z���\x P�xÆ�	P+��2	P+2�W�4��	��Pl�$����q$2���r P+���	P
� 	 k�Ì ml; ����Ð�P+:�����4��	��x�ys�$:;��r P%���	�����<����Ð�P+:�����4��	��P��$����q$2���r P+���	P�,¥@%� �z�	 �
�fk"»��.moÌS�	P+��2	P+2�W�4��	��x
b��$3%6��tP%� ��2	�$��3%4��T5	6���?"ÑÃ���$��:�? O�|¹» � xF9uq��$3%���T���	�¼�	P+2	P+3-�Æ|�; P%PG��q$2���3

��BIO�LNx#.���:��Z4�W�Î<P��z�	��U+��2	�$�	� U+4�7�3%��?¬Ñ0�$:�2	P%U+���	��U+��6 � ���$��:�� � @¥H�B��	L�|Â».���
O ���tP%���t�$2[=£��3T���Çk#�ÆÅ��fmÃHI�z�TB���LN��=�5	7<:"�$���$2	� O ���"! � @§HQ���.xt
���9�=�P%��U+4�7�3%��?¬Ñ�$:�2	P%U+���	��U+��6¢J ���$��:��`Oz���h��:�?"Ñ¼����� ��BEJML��ZH��z�hB��£L�����x P�x|���z�{�'�tBEJML.� �¼Å 4�6 5;�
O =�P 4�� 5 Å 4�6 58@ ���z�\B��	L��Nx8
���9�=�P%�n3h�$��:���?¬��W�9Æ������P+2�4;�\5 0n� ÌÔ�§�$��:�2�W���W�9
������P+2�4;�\5 0 � ��Ìf���h��:��	P£����� 0 � �%0��'� Å 4�6 5A�D� �z� � � 	 BA0 � L£����x P�x/,1BEJML.| 0 � �Nx

���$U%U%�t�$��2��	�0�	P+��2	P+2�W�4��	��P8����Ð�P+:�����4��	��Pl�$����q$2���r P+���	P 5o@ � 	 �76�k�0Cm ;§x
GV��: :;��: 0 -p:¬��������:��\�����A/%���A�$����q$2���rsP+���	P�7�4$5	7�P+��UK7 O ���tP%���t�$2[=£��3T�t���Ç����U+4��$9

� ¥#)�±���¥#)�­� �±�«�³ ¥�§-¡m­£¢�­1³ ¥1(�¥�º#¥�®!­£¢�(�·¸±�ªk��±�)'°�­�§©(1%'&�&'&�(�)�*�+�(�¤'¥¦¦ . §10



��� ��� �����7(���!��

��q$2���3���4����$�	�%5�� O �����j����=[?fA���2	�$4;�����	�$9}U`;Z�Nx @-?�U+��6§Ä}� Ì -o��2	�$��3%4��%5	6�����7
�$��:�2�W��h��7l�$:�2	P%U+���	��U+��6 ���$��:��`B�@ ,1BIO�LNx|@£�%5��Tr1�	�dÄ � @}Ä�MG0 � x�Ï����M���	�hrsP%U+��4��
�$��:�2�W�����x �8�	�Tr P%U+��4��>�
	�BEÄ � Lt@=5GBEÄ � L��$��:�2�W����14 5GBA0VLN����x P�xt����9�=�P+��UK7f�$��:�2�W�����P
���	�Tr P%U+��4���� K � ;Ç���h��:"��P������ � 	 BEÄ � Lt@�� K M � 	 BA0ILNx

I =	2�? O �$9ZU+���$2	�$��W�����BEJMLj�$��:�2�W���� 4 �tB¨»��NLN�©�h��:8:;��:RJQ�$��:�2�W���� ���Çk�»��bm
��B¨» � LV- O ���tP%���t�$2[=£��3T��xHGI�sP%U+��6A����9�=�P+��UK7¢�$��:�2�W�����Pb���	�hrsP%U+��4�� B K � ;Ç���h��:¬��P
�������tBEJ1L�@%B K M-�tB¨»��NLNx

���$U%U%�t�$��2��	�a���	�hrsP%U+��4���� @�� K M B K �Æ�	P+2	P%U%P+�	P+���	P�� M'�
	�BEÄ � L1@�� M
� 	 BA0 � Ll@�� M � 	 BA0VLN�b�$��:�2�W�����PR4 � 	 BA0 � LG�d4;� 	 BA0VLNx�GV��:¹:;��:}�$����q$2���rsP+���	P
5 k 0¹m ; �	P+��2	P+2�W�4��	���t��� 5<�z�hB�� M �
	�BEÄ � L�L @ �<�z�	 B�� M �
	�BEÄ � L�L£�$��:�2�W����f4
0 � �>�GU�5�PN=��$4;����PN5	6��	��� �84¢Ìlx%.�2	���tPs��� O ���$B�| � �z�	 B�� M<� 	 BEÄ � L�LNx�@£�$:;��r P%��� �����
,s�z�hB��<�z�	 B�� M � 	 BEÄ � L�L�L��$��:�2�W����14 ».�%x

, �z� B�� �z�	 B��DM*� 	 BEÄ � L�L�L�@�� �z� �
� 	 B�� �z�	 B�� M � 	 BEÄ � L�L�L
@�� �z� B�� M �
	�BEÄ � L�L�@�� �z� B�� M-�tB¨» � LEM*�
	;BEÄ � L�L 9

GV��:f:;��:	� �4B K �'B K M ��B¨»��NL�@ �tBEJ1LN�������I�z�\B�� M	��B¨»��NLEM<� 	 BEÄ � L�L.@��V�z�\B�� M
��BEJMLEM ��	�BEÄ � L�L.�

, �z� B�� �z�	 B�� M � 	 BEÄ � L�L�L�@�� �z� B�� M-��BEJMLEM*� 	 BEÄ � L�L 9

@£��U+:"�T5	6�:�?
� ��� K � � 	 BEÄ � L @ � 	 BA0 � LJM�� K ������� �z� B�� M��tBEJ1L M'� 	 BEÄ � L�L @
�I�z�\B�� M �tBEJ1L M � 	 BA0 � L�L��

, �z� B�� �z�	 B�� M*��	�BEÄ � L�L�L�@ � �z� B�� M-��BEJML:M �
	�BA0 � L�L 9

GV��:l:;��:���BEJML.�)� 	 BA0 � LN����� � �z� B��DM	��BEJML:M � 	 BA0 � L�L�@�� �z� B�� M �tBEJ1L�L��
, �z� B�� �z�	 B�� M � 	 BEÄ � L�L�L�@�� �z� B�� M-�tBEJ1L�L�@�� �z� B�� M-��B¨» � L�L�@�� �z� B�� L 9

�8�	�TrsP%U+��4�� � �z� B�� L��$��:�2�W����1:;��:l��2	����q$2���3s�$��:�2�W���� O �G���	�hrsP%U+��4;��x
bÃU+��5[?���2	�$��3%4��%5	6��	��U+��� O | »��¢�$����q$2���rsP+���	P ,Íku»��fm Ì �	P+��2	P+2�W�4��	��x

GV��: :;��: ,0����Ð�P+:�����4��	� �§» � - :¬��������:��\������,07�4$5	7�P+��UK7 O ���tP%���t�$2[=£��3T�t��� ���
U+4��$9§��q$2���3�x<@£�%5[?¬���$P%�¥3h��4�PN=����t�8�	P+4�P+2��	��P
?¬��4�P+2;r<=�P+���	P��������l�$:�2�?"r1�	��U+��6 O ��~
�tP%���t�$2[=£���<�	�T=����	�Tr P%U+��4�?l4�P3M<P%U+��4�P+���	�$9l��2;7��t�$9�x
@�2��#E;�T=	�	��:¢��2	�$����4��$2	P+����Ñ Uu��P%���¬����� 4 J�K'BI�"L85 KI� Ì -a�	P+�	P+2��	�T=	���	P%U+:;��7 ��2��\~

P+:����$2���7 �	�$���$:;��J K kk; ml;Çx
@-?�U+��6R��P+�	P+2�6 4 J'K'BI�¬L85 KI� Ì - �	P+2��	�T=	���	P%U+:;��7Æ��2��$P+:����$2���7 � ��B¨» � LM� 4 J'K¾BI�¬L85;x

Ï����R3%���%�������������Z�$����q$2���r P+���	P<� 	 k�Ì m ; 7¬4$5	7�P+��U'7��	�%=	��7����	P%�C�	P+:"�$���$2	� O �
�	P+��2	P+2�W�4��	� O �¢����Ð�P+:�����4��	� O �G�$����q$2���rsP+����7
�� 	 k"» � ml;Çx
@�2	PN=	�	�T5��Tr1�	���<�����
�tB¨»��NL �@ 4 J�K'BI�"L85;x @-?�U+��6 � � | 4 J�K¾BI�"L85
� ��B¨».�NL¾F B � @

�� 	 �z� BI� � LNxl
���9�=�P+��U'7 O ���tP%���t�$2[=£��3T��� k�Ì m B¨»��|� 4 B � 5�LNx .£�����	�$3%��A���7�� � 	 @

¨�� � ¥#)�±£��¥#)'­� �±�«�³ ¥�§g¡F­£¢�­1³ ¥1(�¥�º�¥�®!­£¢'(�·�±�ª���±�)�°�­�§ê(�%�&'&'&�(�)�*�+�(�¤'¥¦¦ .



���������
	���
�
�����������������������������������	���
�� ����������!#"�
��$�
�&%'�)(�*+	��'��,-	.*/����"0����1����)23
�!

�� 	 � �Ôk�Ì m ; =>�$P+�f�	P+��2	P+2�W�4��	��Pl����Ð�P+:�����4��	��P �$����q$2���rsP+���	P��.7�4$5	7�ÑaM<P%P%UK7
O ���tP%���t�$2[=£��3T�t���p���RU+4��$9Â��q$2���3�����2����	P%� ��B¨».�NL � �� 	 BEÌ�LNxy]�3 /%��� O ��UK5�PN=[?�P+�\�
����� �$����q$2���r P+���	P �� 	 �z� � �fk"».�.mÔÌ 7�4$5	7�P+��UK7 O ���tP%���t�$2[=£��3T�t���Æ���AU+4��$9 ��q$2���3�x
� /%���1�	P+4��$3T�t�hr1�	��x
@£�%5[?¬�	P+���	��PA��2	�$����4��$2	P+���	PA3h��4�P+2�Î<�$P+�G=��$:;��3h����PN5	6�U+��4���x
W¼� �aPl�¹����� P ��x W>=�P%U+6Ç�Â=>�\5�P%P8�	P+2	P+3�� � q0?$=�P%�0��q��$3%���%������6Æ��2	PN=�~U+�h��4$5�P+���	P<=�?"��=>�$�tP+���h�\5	6��	�$9 O 2�?"����W ��2	��U+��2����	U+��4;�Z»��A4f�\=�=	������4���?¬Ñ O 2�?¬����?! A	PN5	WQE ���	U%PN5Ix+]���WX���fU�5��$4;�$�����©�$����q$2���rsP+���	P�� � U%�$�	��U+�h��4$5	7�P+� O ���t�$���$�����	P%UN~:"���/?�:�5>�$U%U3?�È ��ËI:�2���4��$9��Rk"» � m » � A	PN5���P£���	U�5���x

� ���$���/�f���;���V���z�A�A� #%Y ]Z?¹@ BI;8FEHIF¾»��+L��¡�"!$#%#'&�(�)+*	,>) � (�*	Yb��½>¶',	*�!\«1`	(�[
#%Yj�©(�)+*	*�(�) `	( ¶¾(+_A)+(+_�(K�¬·�,¬g%_ � µÆk>�Âm �t« ��k » � m ; � *�)+`$�©)­�>^�c�*	($) ,	*��$)+v�[
Y ,>c\*�(�)A(\Y<(�eK�"!�¤¥)+*	,�)h°

	A!�i�ª�)+Y<#'½�(�Y<v+�>^tY<!T½G(�v+�©)+#%Y<*	(�#%Y<] � � ; _£*�(h¤¥)+#%Y1c�!%��B¨» � L'«VY !$v�!T½n\¬Y<(
ª+&¬½R&	º�e�(�¶¾(�*�)+`$�©)­�©^�c\*�(�¶¾(M,	*��$)+v�Y<,�c�*	($¶¾(G(�Y (�e'�"!�¤})+*�,"½�� � k©»��um � #%`��"!�c�)+ª�[
&	,�c�(M#³�¬!$c�*�)+*�,�)

� � B H��/� � L�
¹ÉMB
�����G� � � B H^�/�zL � L 9

y �Z: �f3f�R��P�5�6�U � 4���x ]�3 ��2	PN=�5��Tr P+����7 e UK5�PN=[?�P+�\������� ��B¨»��NL<U%��~
4����\=>�$P+� U��%=	�	�$9Â��3��	P+2��	�%=	���	P%U+:��#EÂ��2��$P+:����$2���9��	�$���$:;�:J'K1kw; m ;Çx @-?�U+��6
� @ 4�6 � F 9 9 9 F 6�� � µtB 6�� L�@ 6�� � � F��.@ Ê$F 9 9 9 F��G1dÊ$FuµtB 6�� LX@ 6 � 5<-Q�	P+2��	�%=	���	P%U+:;��7
��2��$P+:����$2���7 :;�$U+:;�\=>� BE��F'µ�LN�$�h��:;��7s����� �tB¨»��NLt@��lB

�
���� �
Ä�Å 4�6�� 5�LN� O =�P�� k;Ä�ÅX�fml;

- ��2	��P+:�A���7zx�
£P+��2�?$=	�	�A4���=�P+��6	�;����� � � � B H � ��L ��@���� O =�P � - �	P+2��	�%=���2��$P+:����$2����
� :;�$U+:;�\=>�lBE��F'µ�LNx
@-?�U+��6"!Gk;�GÅ��RmÔ� -C�tP+��2���:;���"����=[?fA���2	�$4;��������7M�����lUX�$��2	P+3%:;��xH@£�T5��Tr1�	�

+u@ Ê# �
���
$&% ')(�*+% , , , % -$/.(0'

!>B 6�� F 6�1 L 9

GV��:¹:;��:¥µ  ku� m �n- O ���tP%���t�$2[=£��3T� ��2��d5	Ñ�q���� "p| ! �¹�n- :¬��������:��\�
����9�=�P+��UK732 � - É�� �h��:¬��Ps�����¢=�5	7f4�U%P�E 6 F �8| �Æ�	P+2���4�P+�	U+��4��4!>B 6 F �	L6572 � 4$5�P+�	P+�
!>B�µ  B 6 L¾F'µ  B���L�L85(+A��2�� "G@CÊ$F 9 9 9 F���x
@£�%5��hr1�	� 2Z@9�
���zB�+�F:2 � LNx ���$U%U%�t�$��2��	� U+�	U+��P%�/? �$��:�2�W���WQE ���	�$rsP%U+��4

4 � � 5 ���� � � O =�PF� � @ J6;$B 6 � L¾F3� � @QµtB�� � �z� L�@ µ
� �z�%B�� � L���2��3�£@ # F 9 9 9 F����V:"�$���$2���7

��q�5>�\=>�$P+�¢U�5�PN=[?¬Ñ.Ms�	���lU+4��$9	U+��4;�$����Á
�h�:� � M:� 1 @ � ��2��4� �@=<�d
e � µtB�� � LEM:� � @ �1��2��>��@ # F 9 9 9 F������h��: :;��:8µtB�� � L�@}µ � B�� � L.��J / B 6 � L�d
��� µtB�� � LEM:� � �@ �����h��: :;��: 6 � |fµtB�� � L:M�� � x

� ¥#)�±���¥#)�­� �±�«�³ ¥�§-¡m­£¢�­1³ ¥1(�¥�º#¥�®!­£¢�(�·¸±�ªk��±�)'°�­�§©(1%'&�&'&�(�)�*�+�(�¤'¥¦¦ . ¨ �



��� ��� �����7(���!��

@£�%5��hr1�	�
�� @CB�BEÉ�FTÊNË�Å � � L �ZB

� �z��
��� i
Ä¢Å � � L&�RB�È É�FTÊhLjÅ � � L

��B 4 É75<Å�B�� � M�µtB�� � L�L�L&��B 4 Ê)5 Å B�� � M�µ �z� B�� � L�L�L�F
� @�� B �� L 9


£P+��2�?$=	�	��4���=�P+��6	�����������	�hrsP%U+��4�� � � �$��:�2�W�����4ÂÄ§Å��p�¹7�4$5	7�P+��UK7}�	�%5	��WX�
��2	����q$2���3T�������	�hrsP%U+��4;��� x I 5�PN=��$4;����PN5	6��	���>���	�hrsP%U+��4�� � ��; �$��:�2�W�����x
G�2��$P+:����$2���7 4 J'K'B��	L85 KI� Ì �	�$���$:;��J�Ktkk;¡ml; q0?$=�P+�s2��$U+�	�%5��hrsP+���<4 ���	�TrsP%U+�$~

4�P � ��� O =>�f�Ç���%5	6�:¬�Z��� O =>����:"� O =>�RU%���$��4�P+��U+��4�?"Ñ.M<��7ÆP+9Æ��2��$P+:����$2���7Æ:;�$U+:;�\=>�
BE��F'µ�L�q0?$=�P+�M2��$U+�	�%5��hrsP+���¢4M���	�Tr P%U+��4�P�Bn@

�
���� �
� � x

@-?�U+��6�� � k�»�� m � - ����Ð�P+:�����4��	��P �	P+��2	P+2�W�4��	��P �$����q$2���rsP+���	P�� � � B¨».�NL£@4 J�K'BI�"L85 KI� Ì �A��2��$P+:����$2���� 4 J�K'BI�"L85 KI� Ì U%���$��4�P+��U+��4�?�P+�£�	P+2��	�T=	���	P%U+:;��7<��2��$P+:����$2���7� @ 4 � � F 9 9 9 F ��� ��µtB�� � Lt@ � � � � F ��@pÊ$F 9 9 9 F�� 1�Ê$F�µtB����bL�@�� � 5�=�5	����W�� :;�$U+:;�\=>�
BE��F'µ�LNxwGI� O =>� � � Ba�,� � � B H^�/� � L ��@���xH@£�$:;��r P%���	������� 
}ÉGB
�������VLNx
y�5	7f��2	��U+���$��Waq0?$=�P%�¹U+�����h����6	�z�����	� � |~� � � BGx�@£� �	��U+��2	��P+����Ñ µ  B�� � L£|�  � � ���8µ  B�� � L-�| � � ��=�5	7 "M@ Ê$F 9 9 9 F��<1ÂÊ�d�µ

� B�� � L�| B=M�µtB�� � L.� � � x@-?�U+��6 5
	 � B�� � L |�� � =�5	7Æ�	P+:"�$���$2	� O � � |��Zx GV� O =>� µ
	
� �  B�� � L�| �  � � ���µ
	 � �  B�� � La�| � � �V=�5	7 "G@CÊ$F 9 9 9 F���1RÊ�d"µ
	

� � � B�� � L�@}µ
	
� � � ���KB�� � L.| B'MsµtB�� � L.� � � x@£� ����=[?":�A����Z�	�T5[?"���	����������µ 	 � B�� � Lu| � � F'µ 	

� �  B�� � L��| � � ��2�� "l@ Ê$F 9 9 9 F��G1¹Ê=�5	7 ��2	�$��3%4��T5	6��	� O � � |��Zx�yA2�? O �	���RU�5��$4;�$�����©4�:�5	Ñu�	P+���	P µ � B�� � L�|y� � 4$5�P+�	P+�� 
¹ÉGB
� � ���VLN���$��:�?$=>�1�	�%5[?¬���	� � � B H
� � � L 
¹ÉGB
� � �G� � � B H^� �zL � LNx@�2	PN=�5��hrsP+���	Ps=��$:;��3h���	��x

� ���$���H�����"�V�����I���A� #%Y<]Z?d@ BI;8FEHIF¾» � LZ�¡�¬!�#%#'&�($)+*	,�) � (\*	Yb��½>¶¾,	*	!�«1`	(\[
#%Yb�>($)+*	*	($) `	(Ç¶'(%_�)+(%_£('�¬·t,¬gT_ � µ ku� m �t«��0@ B��lFEH$�\F¾»��%LZ� `��>(\,�g$c�(+&�]�*	($)
�"!$#%#'&�(�)+*	,>)A*	!$ª¢(\v+� � ¤}*	(\#%Y<]�º�«Hj¥k#; m�� � *�)+`$�©)­�©^�c\*�(�)A(\Y<(�eK�"!�¤¥)+*	,�)sY<(\[
Y<!T&	]�*�^��M`��>(\#%Yb�"!$*	#%Y1c �\Y<,7���"!$#%#'&	($)+*	,	il¦Ijd*�)�(�e+½�g�!$*	(�#%(����"!$*"½�Y<]A#%Yb� � v;Y � � �
�"!$#%#'&�(�)+*	,¬½�´�° �A� #%Y<] �8k"»��.ml; �0*�)+`��©)­�>^�c�*	($)�,	*��$)+v�Y<,�c�*	($)£(\Y<(�eK�¬!\¤¥)+*	,>)h°

	A!$i	ª$)+Y #'½¼(�Y<v+�>^tY<!T½ (�v+�©)+#%Y<*	(�#%Y<] � � �L; _£*	(\¤¥)+#%Y1c\!��tB¨» � L'«¢Y<!$v�!T½
\¬Y (Æª%&"½}&�º�e�(�¶¾(Æ*�)+`$�©)­�>^�c�*	($¶¾(§,	*���)+v;Y ,>c\*�(�¶¾( (�Y<(\e'�"!�¤¥)+*	,"½ � � k ».�Çm � �
c�^t`	(%&	*"½>)+Y<#'½R#%(�(\Y<*	(��1)+*	,�)

����
� � B H$� � j � � � L
� � B H�� � j � ��L

����
@ ����

� � B H��/� � L
� � B H
� �zL

����
9

ys�$:;��3h����PN5	6�U+��4��¢��2	PN=�5��Tr P+����78��U+�	�$4;���	�M���<5�P%�t�tP

� ����� �����A�A� #%Y ])� � F � i k<».��m »��Â� ª�c�!�*>)+`$�©)­�>^�c�*	^��¥(\Y<(�eK�¬!\¤¥)+*	,¬½"!
�<F$# k;Ì mÔÌ � ,7�8*�)+`$�©)­�©^�c\*�^�)£`	(�ª\*"½�Y<,"½	«�Y<!$v�,�) \¬Y (

¨ e � ¥#)�±£��¥#)'­� �±�«�³ ¥�§g¡F­£¢�­1³ ¥1(�¥�º�¥�®!­£¢'(�·�±�ª���±�)�°�­�§ê(�%�&'&'&�(�)�*�+�(�¤'¥¦¦ .



���������
	���
�
�����������������������������������	���
�� ����������!#"�
��$�
�&%'�)(�*+	��'��,-	.*/����"0����1����)23
�!

¦�� ´
�GB 6 PdÊhL�@��GB 6 L�P � ª%&"½R*>)+v�(\Y<('�>($¶'(�� | ! ,f`$�>(�,¬g$c�(%&	]�*�(�¶¾( 6 | Ì�!
¦���� ´ #ÆB 6 P¹ÊhL�@ #ÇB 6 L�P � ª%&"½Z*�)+v�(�Y ('�>($¶'( � | ! ,f`$�>(�,¬g$c�(+&�]�*	($¶¾( 6 |lÌ !
¦������ ´§*	!$i	ª � Y<#'½�" | � , +s|§BEÉ�F �i L'«�Y !$v�,>)a\¬Y<(�`$�>,M&�º�e\(%_ 6 |lÌ c�^t`	(%&	*"½>)+Y<#'½

c�v\&�º�\¬)+*�,�) #ÆB��  L�1��GB 6 L�| �
� ��!
B ��1 +�F�� P;+�L%°

��($¶'ª�! #ÆB 6 P}ÊhL�@ #ÆB 6 L�P � "�`$�>,�&	º�e�(+_ 6 |lÌf°
yS�¢:��¢3M�¢��PA5Z6 Us��4 � 5�P<�¹�dW�x 9uq��$3%���%���	�45¢B 6 Lj@ #ÇB��  L 1 �MB 6 LNx@£�n?�U�5��$4���Ñ 5GBEÌ L�� �

� � !
B �N1 +;F���P +$LNx�G���:Z:;��:�Ì U+4�7�3%�	���'5 �	P+��2	P+2�W�4��	���I���

����9�=�P+��UK7�� � | ! �	�h��:"��Ps�����*5GBEÌ�LX�CB � � 1 +;F�� � P +�LNx GV� O =>� � 5GB 6 P "�1 5GB 6 L�L ��5
# + 5 Ê���2�� 5	Ñuq���� 6 |lÌ8x

I =	2�? O �$9lU+���$2	�$��W��

5GB 6 P "	L�1 5¢B 6 L�@ #	� 6 P "" 
 1 #�� 6 "�
 1 4 �MB 6 P "	L
1��MB 6 L85
@ #�� 6 " P¹Ê 
 1 #	� 6 " 
 1

 �z�

�&�.�
4 �GB 6 P � P¹ÊhL
1��GB 6 P �³L85£@ � 1 "�� | ! 9

]�3�/%��� O �1�	�%5[?¬���	���	����� � 1,"��Ã@¹ÉM� #ÇB 6 P¹ÊhL
1 #ÆB 6 L�@ � @%"���x
yC�A: ��3����sP�5�6sUj�A4 � �G2¢PX=¢5���r0Pj�¢�G7zx ���$U%U%�t�$��2��	�Ç�$����q$2���r P+���	P

H�� � j � �Qk�Ä Å �Rm » �39
GV��:G:;��:¢���$�	�%5�� O ��7¢�������	�Tr P%U+��4;��E¢Ä£Å � � »���-C�tP+��2����	P%U+:;��7z��Ä�Ås� -C:"��������:��
�M�$����q$2���rsP+���	P�H�� ��j^� �p�	P+��2	P+2�W�4��	���"���£�$�	��2���4��	���tP+2��	��~¨�	P+��2	P+2�W�4��	��x|]���WX���
U�5��$4;�$�����©=�5	7 5	Ñ�q�� O � + -}ÉG����9�=�P+��U'7�2�-¹É��>=�5	7 :¬�$���$2	� O � ��2��l5	Ñ�q$WQE�� � F � i |Ä¢Å � �	P+2���4�P+�	U+��4�� !©B�� � F � i L�5�2A4$5�P+�	P+� !>B H�� � j �8� B�� � L¾FEH$� � j � �lB�� i L�L85)+;x�s��:"U+��2�?�P%� =���U+�h�����$���	�Ç���\5�P+��6�:"��P + � - É����h��:"��P��X������q$WS��2����	P+2	P�E;�T=�Pl:
�	�%=	��7�����ÑC�$����q$2���rsP+����71H�� �Qj ��� 2��$U%U+���h7����	PA�tP+r<=[?���q$2���3h�$��� ���$�	P+: � � ��� i �4�3%7¬����P¢B
��� �lÊhLN�	q$W�5��M�tP+��6�Î<P �i ��:;��: ���%5	6�:¬� !>B H$� ��j �8� B�� � L¾FEH�� ��j � �lB�� i L�L85+ � �Nx 
���9�=�P%� �	� + � ���	UK5��32 � -QÉ����h��:¬��P�������q$W ��2��Æ5	Ñuq$WQE � � F � i |¥ÄfÅ �}��3�	P+2���4�P+�	U+��4;� !©B�� � F � i L�5�2 � U�5�PN=��$4;�\5�� !>B H�� ��j ���lB�� � L¾FEH�� � j �8� B�� i L�L 5)+ � x@-?�U+��6	�§k©»��bm>;o-Q:�2���4;��78��3�?�U�5��$4���7f��2	PN=�5��Tr P+����7z� � � ;Ô-Ã�$:�2	P%U+�$~
�	��U+��6u/%���$9<:�2���4��$9��$�	��U+��2	��P+������7<4u��2	PN=�5��TrsP+��������x����tP+��6�Î �	�8���	�hrsP%U+��4;� 4 � � 5
��31��2	PN=�5��TrsP+����7Æ� �h��:��z������q$Wp��2��Z4�U%P�E � @aÉ�F 9 9 9 F���4�W��	�%5	��7¬5���U+684�:�5	Ñb�	P+���	P
µ
	TB�� � Lj�}J6; * B 6 	 � � LNx @£��U+��2	�$�	� �	�G�	�$4��$9fU+�	U+��P%�tP 4 � � 5<���	�TrsP%U+��4;� �� � �}Ä Ål��	� � @��lB��� � LNx
@-?�U+��6Z��P+�	P+2�6 � � k�».�Mm � � - ����Ð�P+:�����4�����7Æ:�2���4;��7zx GI� O =>��� � B HN��� � L 
ÉGB
�����G� � � B H^� ��L � L�� ����9�=�P+��U'7G" | �Z��=�5	7�:¬�$���$2	� O � � � � B H^�/� � L ��@%"E� � � B H��/��L � x

� ¥#)�±���¥#)�­� �±�«�³ ¥�§-¡m­£¢�­1³ ¥1(�¥�º#¥�®!­£¢�(�·¸±�ªk��±�)'°�­�§©(1%'&�&'&�(�)�*�+�(�¤'¥¦¦ . ¨ �



��� ��� �����7(���!��

���$U%U%�t�$��2��	�d:�2���4�WXP���VF��� � k¬» � mY; � =�5	7 :¬�$���$2�WQE����B¨» � L�@���B¨» � LN���� � B¨» � L�@
� � B¨».�'L��N���$��2	PN=�PN5�P+����WXPsUK5�PN=[?"Ñ.Ms�	����q$2���3T����Á

��8k � i��
� K
�mÍB 4 B)�/5�F'µ S K � U B 6 � L�L¾F3�8@#� � � B H^�/�zL �
	
�� � k � i��

� K
�mÍB 4 B " �/5�F'µ S K  � U B�� � L�L 9

W>=�P%U+68BEÉ�F 6 � L.| ��B¨» � L¾FbBEÉ�F � � L�|�� � B¨» � LNx]�3b=��$:;��3h����PN5	6�U+��4;�s��2	PN=�5��TrsP+����7l�AU�5�PN=[?�P+������������2�� 4�U%P�E � | ! !>B�µ � B 6 � L¾Fµ � B�� � L�L65 2 � ��4���2	��U+��2����	U+��4�PM���Nx 9b��U+Ñ�=>� �	�%5[?¬���	���z����� ��2��Z4�U%P�E:B�| Ì ����9�~
=[?¬��UK78=	4;�M��2	����q$2���3h��� � @ B 4 B)�/5�F'µTS

K � U B 6 � L�L¾F
� i @ B 4 B)�/5�F'µTS
K � U B�� � L�Lb|�Ä�Åf�Ç���$�	P+:

���B � i��
� K L¾F��� � B � i��

���
� L�|F; ��2�� �$����q$2���r P+�����4� ��?$=��$4$5�P+��4��$2"7�ÑaM �	PsU%���$���	�$Î<P+����Ñ

!©B�� � F
� i L85�2 � F

��3�:¬�$���$2	� O �M�	P%�tPN=�5�P+���	�M4�W���P+:;�$P+�

!©B H�� � j ���lB�� � L¾FEH�� � j � �lB�� i L�L�@ !>B H$�a��j �����B � i��
� K L¾FEH��a��j ���� � B � i��

� �
� L85)+ � 9

I 5�PN=��$4;����PN5	6��	������W}����E;�T=	�	�tUK7 4�?�UK5��$4���7fE�5�P%�t��Wp�u=�5	7��$����q$2���rsP+����9GH��Q�Qj �
��VFEH$� � j ���� � k¬» � m » � � �#E �	�T=	��7�����9
�1F$# k�Ì mÔÌfx
@�2��	�tP+��7�7 5�P%�t�/?R�����	�%5[?¬���	�

� � � B H$� � j ���� � L ��@%"E� � � B H�� � j �����L �
�

"M@ ����
� � B H�� ��j ���� � L
� � B H�� � j �����L

����
@ ����

� � B H����� � L
� � B H^����zL

����
9

9uU+�h�$P+��U'713h�$�tP+������6	��������:�2���4;��7 � O ���t�$���$������:�2���4��$9������P%U�5	� O ���tP%���t�$2[=���3T�
��I�z�T� �Rk"»��.m ».�jU%��E�2�����7�P+�¢�$2��	P+���h�)A���Ñ ����5	� :�2���4��$9��� K k¬».��m ;§�

�� K k � i�� � K �m B 4 B Ê31 BKL �/5�F'µ S � ��� K � � U B 6 � L�L
4M��2	�$����4��	��� U�5[?¬���$P�x�@�2����	P%� � � B H^���� K L�@ 1�� � B H�����zLNx� ���\5�� O �����	�M��=�5	7 :�2���4��$9�� � k¬»���ml;Çx@£��UK5�PN=	�	P%PA3h�$�tP+�������	PA3h��4�P+2�Î<�$P+�1=��$:;��3h����PN5	6�U+��4��¢��2	PN=�5��Tr P+����7zx
W � � P1�Æ�����ÇP e x @�2	PN=�5��hrsP+���	PnZl��U+�h�$P+��U'7§U+��2���4�PN=�5	��4�WX�n��2��§q��T5�P%P

U�5>�$q$WQE ?�U�5��$4���77Ezx � �	�tP+���	���©=���U+�h�����$���	���	�$��2	P%q��$4;����6	�z������q$Wp�$����q$2���r P+���	P j
q$W�5����$��2	PN=�PN5�P+�	� ���G�	P+:"�$���$2	���}3h�$��:���?¬�����¹�	�%=����	�hrsP%U+��4�P�� �m; U �	P+��?�U+���$9
4���?¬��2	P+���	��U+��6�Ñ ���h��:"���Â�����#��B¨»��¾L.��� �f�
�Çx

¨ Z � ¥#)�±£��¥#)'­� �±�«�³ ¥�§g¡F­£¢�­1³ ¥1(�¥�º�¥�®!­£¢'(�·�±�ª���±�)�°�­�§ê(�%�&'&'&�(�)�*�+�(�¤'¥¦¦ .



���������
	���
�
�����������������������������������	���
�� ����������!#"�
��$�
�&%'�)(�*+	��'��,-	.*/����"0����1����)23
�!

�Zÿ �Fx��ws��I�ws�z u����������'t7}'t

y �\=	�	��UK5�PN=[?"Ñ.M P%P
�<�����$�����t�;���V��� �A�A� #%Y<]f?�@ BI;8FEHIF¾» � LZ�S�¬!�#%#'&�($)+*	,�) � (�*	Yb��½>¶',	*�!�° 	A!$[

g�(�c$)K_ *�)+`$�©)­�©^�c\*�(�)f,	*��$)+v�Y<,�c�*	($)8(\Y<(�eK�"!�¤¥)+*	,�)	�Ãk�».��m ; �s[­v+�>,�c�(�i�«¢)+#%[
&	,�*�!�i�ª�)+Y<#'½Z`�(\#'&>)+ª\($c�!$Y<)K&�]�*	(�#%Y<] *�)+`$�©)­�©^�c\*�^��f,	*��$)+v�Y<,�c�*	^��Z(\Y<(�eK�"!�¤¥)+*	,	i
� � k¬» � ml; « ��| �f« � ª�(�c%&>)+Y1c\('��½�º � !%½ � #'&	($c�,"½"_��
¦�� ´§ª%&"½d`��>(\,�g$c�(+&�]�*	(�i�(�Y<v+�>^tY<(\i (\v%�©)+#%Y<*	(\#%Y<, � _�*	(h¤¥)+#%Y1c�!���B¨».�NL � ;
*	!$i	ª$)+Y<#'½ "�| �f«�Y<!$v�($)�\¬Y ( � � B¨» � L.� �Q`$�>,fc\#T)8� �J-(" !

¦���� ´ � � � B H^�/�zL �'�@ � � � B H^� � � L ��`$�>,fc\#T)8� ��| � °
	�!hg�($c$)K_¼v+�>,�c � º �
	�� [ v+�>,>c\(�i�«�)+#'&�,G*	!$i	ª$)+Y<#'½G`�(\#'&>)+ª\($c�!$Y<)K&�]�*	(�#%Y<] � � k¬» � m
;�« ��| �f« � ª\($c%&�)+Y1c�('��½	º � !T½ � #'&�(�c�,"½¬_ ¦�� ´h«j¦���� ´ ,
¦������ ´ � � � B H^�/�zL �'�@ # � � � B H�� � � L ��`$�>,Rc�#T)8� ��| � °
@�2	PN=�5��Tr P+���	P Z1�	�$:;��3%W�4;�$P+�¢:"�$2�2	P+:����	��U+��6�U�5�PN=[?¬ÑaM<P O �G�$��2	PN=�PN5�P+����7zx

�<�����$�����t�;���V���z� ��(�`	(%&	($¶¾,[\¬)+#%v;(�)j`$�>(�#%Yj�¬!�*�#%Y<c�( ;o*�!Tg$^�c\!�)+Y<#'½`�s[ `��>(\#%Y<[
�"!$*	#%Y1c\(%_ ¦�	�� [ `$�©(\#%Yb�"!$*	#%Y1c�(+_�´h« )+#'&	,<cj*>)K_d*	!$i	ª�)+Y<#'½ � [ v+�>,>c\!T½l¦�	��s[­v+�>,�c�!T½�´�°

��
�� � 
 � �Â�>���A� #%Y<]Z?¹@ BI;8FEHIF¾»��NL � �"!$#%#'&�(�)+*�,�) � (�*	Yb��½>¶',�*	!�«&; � )%¶¾(
Y (�Y<!T&	]�*�(�)A`$�>(�#%Yj�¬!�*�#%Y<c�(�°

�.#'&�, ; � �s[­`$�>(�#%Yb�"!$*	#%Y1c\(<¦�	�� [ `$�©(\#%Yb�"!$*	#%Y1c�('´\«©Y<(u*�)�# �k� )+#%Y1c � )+Y `	!¾�>^
BIh i F�jXL'«�¶'ª$)wh i � ª�c � _A)­�>*	($)X('�>,�)+*	Y<,$� � )K_�(�)t_�*	(�¶¾(�(\e'�"!hg�,�)s¦ h i � ª�c � _A)­�>*	($)
_£*	($¶'(�(�eK�"!hg�,>)N«A*�) (�e+½�g�!$Y1)K&	];*	(Z(K�©,�)+*	Y<,$� � )K_£($)³´h« j¡k|; m hmiÆ� c%&�(h¤¥)+*	,�)
`$�>(�#%Yj�¬!�*�#%Y<c�!&;Íc��\Y<(A_£*	($¶'(�(�eK�"!hg�,>)h°

y¡� :Ç��3¢���lP15 6lU1� 48��x @-?�U+��6:; -l�j~¨��2	��U+��2����	U+��4��Æ��	��j~¨��2	��U+��2�����~
U+��4��;�Nx
@�2	PN=	�	�%5��hr1�	���V����� ����9�=[?"��U'7��$2��	P+������2�?�P%�t��PM=	4�?��tP+2��	��PM���	� O ����q$2���3%�	P
h i ����2	�$��3%4��%5	6��	��P =	4�?��tP+2��	��P¢���	� O ����q$2���3%�	PNh i �V�	P ��q$7�3h����PN5	6��	�R�$2��	P+������2�?;~
P%�t��Ph� �¼�	P+��2	P+2�W�4��	��PÆ����Ð�P+:�����4��	��PÆ�$����q$2���rsP+���	P j k
; m hmi$���h��:¬��P§�����
jdk�; mYj£BI;ZL�- O ���tP%���t�$2[=£��3T�n�����$�	�%5�� O ��78���
j£BI;RL�����=[?fA���2	�$4;�����GUgh i �Nx

���9�=�P%�Â����Ð�P+:�����4���?¬ÑC�	P+��2	P+2�W�4���?"ÑC:�2���4�?¬Ñ �8k¬».��ml; � U%P%�tP+9	U+��4��M����Ð ~

P+:�����4���WQE��	P+��2	P+2�W�4���WQE :�2���4�WQE � � k¬»���mY;§����| �Z���$���	��U+����PN5	6��	�M:¬�$���$2	� O �#�
7¬4$5	7�P+��U'7 �j~¨:�2���4��$9Æ��	��j~¨:�2���4��$9>�Nx+9b���tP+���	���������1��3���2	PN=�5��hrsP+����7 e 4�W���P+:;��Ñb�
U�5�PN=[?¬ÑaM �	P£�	P+2���4�P+�	U+��4;��Á

� � B H��/�zLa�@}É�F
� � B H�� � � L.�@}É1��2�� 4�U%P�E>��| � 9

� ¥#)�±���¥#)�­� �±�«�³ ¥�§-¡m­£¢�­1³ ¥1(�¥�º#¥�®!­£¢�(�·¸±�ªk��±�)'°�­�§©(1%'&�&'&�(�)�*�+�(�¤'¥¦¦ . ¨��



��� ��� �����7(���!��

9b����q$2���r P+���	P^j��/��k�» � mYh i �	P+��2	P+2�W�4��	�¢�l����Ð�P+:�����4��	���©� �h��:8:;��:R» � -
:"��������:����	/%���<�$����q$2���rsP+���	PA7�4$5	7�P+��U'7�4$5��TrsP+���	P%��x .���: ��3%4�P%U+���	������2	�$��3%4��%5	6�����7
2	P O ?$5	7�2�����7��$:�2	P%U+���	��U+��6Z3h�$��:���?"���$9��	P+��2	P+2�W�4��	�$9�:�2���4��$9���4$5��TrsP+���	�$9�4l=	4�?"~
�tP+2��	��P��$2��	P+������2�?�P%�t��P£���	� O ����q$2���3%�	P�� O ���tP%���t�$2[=£��� A���5	����=	2�?�� i �EP%U�5	�Nh i -
��2	�$��3%4��%5	6��	��Ps=	4�?��tP+2��	��PA���	� O ����q$2���3%�	P��>�	P���q$7�3h����PN5	6��	�¢�$2��	P+������2�?�P%�t��P��©2	P O ?"~
5	7�2�����71�$:�2	P%U+���	��U+��6�3h�$��:���?"���$91�	P+��2	P+2�W�4��	�$9¢:�2���4��$9���4$5��Tr P+���	�$9G4gh i � O ���tP%��~
�t�$2[=£���
A���5	����=	2�?��gi£��5	�85	�	U+��? �fP%q$��?�UT��� ih�Nx�@-?�U+��6:�p� hmi�-Q3h�$��:���?¬�h��7
2	P O ?$5	7�2�����7 �$:�2	P%U+���	��U+��6Æ:�2���4��$9 j � ��� �Sk-�Ôm �gi - O ���tP%���t�$2[=���3T������2��
:"�$���$2	���¹:�2���4;��7 j�� ���	P+2	P�E;�%=	��� 4¢/%:�4;�����$2�A���5	����=	2��Z�X��k�� m�� i - O ���tP%��~
�t�$2[=£��3T������2��l:"�$���$2	���Â:�2���4;��7:j �/�8�	P+2	P�E;�T=	���G4M/%:�4;�����$2 5	�	U+�h���8P%q$��?�UT���Nx
�8�	�Tr P%U+��4��gj �z� B � �f���£L�� ; 7�4$5	7�P+��UK7s�$:�2	P%U+���	��U+��6�Ñ�:�2���4��$9����\�	�$/%�����/?£����9�~

=�P+��UK7 " | �Z���h��:"��PA�����1��2�� 4�U%P�E>���(" � � B¨».�'L��Djb�z�hB � �f�3�£LNx
����5	����=	2	� i � 5	�	U+� �fP%q$��?�UT��� i �b�t�Tr1�	� ���\=�PN5	����6 P%U+��P%U+��4�P+���	�$9ÇU+��2�?":���?"~

2	�$9<2��$U%U�5���P+����71���\=M�$:�2�?¬r1�	��U+��6�ÑdU%��U�5���P%�Z�$��2	P+3T�$:�xw9b����q$2���r P+���	P � �$j¹kk; m
�gi��X�:�.j k$; m
� iT�X�	P+��2	P+2�W�4��	���
� � � BX� �ajy� ��L ��@QÊ�x�@�2��	�tP+��7�7f��2	PN=�5��hrsPN~���	P�Z U�?"�	P+�����¹3h�$�tP+��������7 e � 3h��:�5	Ñu���$P%��������������9�=[?¬��UK7Z�$:�2	P%U+���	��U+��6	� � �R;
���	�Tr P%U+��4;�#�tB¨»��NL.� � | �Z���h��:��	P£�����M��2�� 4�U%P�E ��� �
�h� � � B¨» � L��
� � �
e �n�`� j � � � ����Ð�P+:�����4��	�M� �	P+��2	P+2�W�4��	���

��� ����
� � B H�� � � L
� � B H��/�zL

����
@ ����

� � BX�`� j � � � L
� � BX�`��j �/�zL

����
x

@£�T5��Tr1�	� �Ã@ ����
zB "©F � LNx/GV��:1:;��:<� � � BX� �[j � �zL �¬@ Ê.� � � � B HH� � � L ���| 4 É�F�� � � B H��
�zL � 5;�>��� � � BX�`� j�� � � Lg�| 4 É�F��<Ê)5;xA� y�5	7 	��j~¨:�2���4��$9��©�h��:l:;��: � � � BX�F� j��/�zL �¬@ Ê� � � � B H^� � � L �$�| 4 É�F�� � � B H��/�zL � F # � � � B H��/��L � 5;�	����� � BX�`� j � � � L.�| 4 É�F��<Ê$F�� # 5;x �I =	2�? O �$9lU+���$2	�$��W����	�tP%P+� �tP%U+���

� ����� �+� �A�A� #%Y ]�� i �Sw	,"&�,	*	ª'��« �Çk>» � m�� i �S*>)+`$�©)­�>^�c�*	($)A,�*��$)+v�Y<,�c�[
*	($)�(�Y<(\e'�"!�¤¥)+*	,�)h° ��($¶¾ª\! � � B �zL.| 4 É�F��1Ê)5¬°
yÃ� :��¢31� � Ps5Z6 U<� 4 � 5�P1�d�dW�x ���$U%U%�t�$��2��	� �tP+2���=	����� A���5	����=	2��

h @ 4�6 |��gi2����B 6 L�@ � � B
� � � # �IL85 � P O �1�	P+2	P%U%P+�	P+���	P&h M-�RU£:�2���4��$9���x
9b����q$2���r P+���	P�� k>» � m
� i ����Ð�P+:�����4��	���8�	P+��2	P+2�W�4��	���I» � -S:"��������:���xg]�3+~

4�P%U+���	���X�����Ç����Ð�P+:�����4��	��PR�	P+��2	P+2�W�4��	��PZ�$����q$2���r P+���	PZ:"��������:��h�§7�4$5	7�P+��UK7}P O �
O ���tP%���t�$2[=£��3T�t��� ���<U+4��$9l��q$2���3�x I 5�PN=��$4;����PN5	6��	�����Rk"»��.m��tB¨»��NL�- O ���tP%���t�$2�~
=£��3T�Z� �8k¬» � m�� i -C4$5��Tr P+���	P�x I � O 5>�$U+�	�s��P%�$2	P%�tP � x �£��3A� � � �t�Tr1�	�s��2���4�P%U+���
�R�Fh 4G��q0M P%P��	�%5��Tr P+���	P�� �\x P�x.U3?fM<P%U+��4�?�P+�M��3T�$���$����7�� K k���ijm���i��	�h��:;��7 �����
� � @ � !fk�� i m�� i ��� � B �zLX-Ã�	P+��2	P+2�W�4�����7Z3h�$��:���?¬�h��7R:�2���4;��7Zq�P+3<UT�$�t�$�	P+2	P%U%PN~�	P+����9����	P+2	P%U%P+:;��Ñ.M<��7:h ��2����	U+4�P+2	UT�\5	6��	��x�9b�	P+4���=	�	����� � B ��L�@ � � B�� � B �zL�LNx

¨0§ � ¥#)�±£��¥#)'­� �±�«�³ ¥�§g¡F­£¢�­1³ ¥1(�¥�º�¥�®!­£¢'(�·�±�ª���±�)�°�­�§ê(�%�&'&'&�(�)�*�+�(�¤'¥¦¦ .



���������
	���
�
�����������������������������������	���
�� ����������!#"�
��$�
�&%'�)(�*+	��'��,-	.*/����"0����1����)23
�!

GV��:§:;��:§» � - :¬��������:��\�V��� :�2���4;��7 � � B ��Lu�	P+2	P%U%P+:;�$P+�:h 4 :"�$�	P+���	��� ���	U�5�P
���$�	P+:�xw@-?�U+��6M/%���1q0?$=[?¬�M���$��:���� � @CB Ê$F8� � F�� � L¾F���@CÊ$F 9 9 9 F���x

I ��2	��P3A���2�?�P%� � � B ��LG��� /%:�4;�����$2 � � ��2��¹�	���t�0M �¥�$����q$2���rsP+����7ÆH k �gi§m
� � F H�B�B Ê$F8��F��"L�L.@CB Ê$F8��FKÉ;LNx+@�2��	U+4��$�	�Æ���$��:"P � � 3%����: � P � �¬P%UK5	� �	��U�5�P���2	��P+:�����~
2	�$4;������7¢������2���4$5�P+���	Pu=	4���r P+����7¢4$=��T5	6 � � B �zL�4A=���U+�h�����$���	�<���\5��$9 �$:�2	P%U+���	��U+������$��:��	� � U%�$4����\=�P+�1UX������2���4$5�P+���	P%�Æ��q)E;�%=>�A/%:�4;�����$2����¬�G3%����: � 1 � 4A��2	�$����4��	���
U�5[?¬���$P�x
@-?�U+��6 U+2	PN=	�¢���$�	P+:-� � F ��@ Ê$F 9 9 9 F���������9�=[?¬��UK7G:;��:¢���$��:����;�	���tP+�	P+����WXP � P � �

�h��:¢� � 1 � xIys�$:;��r P%���������A:�2���4�?¬Ñ � � B �zL��t�Tr1�	� ��2	�$��3T�$���$����2	�$4;����61�h��:��"�����sP%P��q$2���3<q0?$=�P+���	P+2	P%U%P+:;����6�U'7�U h ��2����	U+4�P+2	UT�\5	6��	� 4¢��P�Elr P ���$��:;��E � ����� ��� � B �zLN�:�2	���tP�=	4�?�E�� 1 �@ �  ���T=	���1��3£:¬�$���$2�WQE �	�tP%P+�M3%����: � P � �	�<=	2�? O ��7�3%����: � 1 � x
.�2���4;��7 � � B �zL�2���3Tq$��4;�$P+��UK7����$��:;�$��� � � ��� �Æ������P+2�4;�\5��$4 � � F 9 9 9 F � � x�@£P+2	PN~��?¬�tP+2�?�P%�Ç���$��:���� � �"�h��:�������q$Wd:¬�$��A��$��� ������P+2�4;�\5>��� � F���@ Ê$F 9 9 9 FhB ��1§ÊhLN��q$W�5	�

���$��:���� � � � � � � ��:"�$��A��$���l������P+2�4;�\5>�#� � -0���$��:�� � � � � � xI �$�	��U+�h��4��	�d:;��r<=��$98���$��:¬P�������P+2�4;�\5>� � � � �gi£�T=	�	�G��3s3%���%�	P+����9RP%P��	�%5	7�2�~
�	� O �n? O 5>���z�h��:Z������q$W�=g?¬��:�A���7 � � k"� � m Ì q$W�5>� �	P+��2	P+2�W�4������ � � B � � Lb@�� � x
I �$�	��U+�h��4��	� �$��2	P+3%:�?	� � ���	U�5��

� � @���� �� ��� $ 4 � � � B 6 L
1�� � � 5 9
GV��: :;��:���2���4�U%P�E ��� � M^h @ �"� � @ � � ��� � � � �¬��� :�2���4�WXP(� � =�PN5	7¬��U'7�����=	4;�:�5>�$U%UT��Á
�	� � ���$��:��#� � �#� � � � �	�tP+Ñu�£�%=	���13%����:��$��2��</%����� � � B � � � � Lt@ � � � # � � � � @ # �Hd
�	�
� � ���$��:���� � ��� � � � �	�tP+Ñu�M2���3%��WXP£3%����:����	��� O =>�
� � B � � � � Lt@ � � � � � 5 # �tx
b.WXq�P+2	P%�8U+2	PN=	� ���	U%PN5 � � F ��@ Ê$F 9 9 9 F����\�������	���\5	6��	��P�xH@-?�U+��6u/%���jq0?$=�P+�u���	U�5��

� 1 =�5	7 ������P+2�4;�\5>� � 1 xHGI� O =>� � 1 5 # �tx
���$U%U%�t�$��2��	�Ã��q�5>�$U+��6ÂJ���:"�$���$2���7¥� O 2��������	P+���Ç������P+2�4;�\5���� � 1 �}�$��2	P+3%:"���

0Â| h � U%��PN=	����7�ÑaM �	�d���$��:�� � 1 ��� 1 � � x ��JQ-S��2	��U+�h��783h�$��:���?¬�h��7f:�2���4;��7 � �� � B �>J1L£@0É 4lU+��5[?R4�WXq��$2�� � 1 x @£�$/%�����/?�J O ���tP%���t�$2[=£��� =	4�?¬�tP+2��	���/?R=	�	U+:�?�xy�5	7 5	Ñ�q��$9}:�2���4��$9 � � � � �@ <��u����9�=�P+��UK7}���$��:;� 6 �b�h��:;��7d����� � � � B 6 L�1R� � �2-
��� �� ��� ' 4 � � 1 B 6 L
1�� � � 5"x I 5�PN=��$4;����PN5	6��	��� 6�� |�� � MZB �gi���JMLNx@£�$:;��rsP%���������l��2��Ç4�U%P�E �n�@ < J#M$� � @ ��x�ysP+9	U+��4�����PN5	6��	����P%U�5	��q$W =�5	7
�	P+:"�$���$2	� O � �:�@ <Z4�W��	�%5	��7¬5���U+6ÆU%���$���	�$Î P+���	P8J M � � �@ ����:�2���4;��7+� � =��%5	r1���
q$W�5>�Gq$W¥�	P+2	P%U%P+��6�U'7fU ��J��������G�	P+4��$3T�t�Tr1�	��� �h��:8:;��: � � M � 1 @ ����� � MNh @R�1�
0�� h x
b��$3%6��tP%��=���U+�h�����$���	� ���\5[?¬Ñp�$:�2	P%U+���	��U+��6 � =	�	U+:;� J �8��2	�$��3T�$���$����2�?�P%�}P%P

���MU%P%q$7 ���	P+�	�%=	4���r1�	� ��� O 2�������A	Ph�N�>�h��: ������q$W¼��2�� /%�����
� M:� �	P+2	P+ÎA5��G4M:"����~
�	�$�	P+����?8U+4�7�3%�	��U+�������	�Tr P%U+��4;����� h0�©�	PA�	P+2	P%U%P+:;��Ñ.M ?¬Ñ�UK7ZU�=	�	U+:¬���}J�xa@�2	��~
=��%5	r1�	�Â/%��?���3T�$���$����Ñ ��� �giu��2�� �	���t�0M � ���hr<=�P%U+��4�P+���	�$9f��3T�$���$������x

� ¥#)�±���¥#)�­� �±�«�³ ¥�§-¡m­£¢�­1³ ¥1(�¥�º#¥�®!­£¢�(�·¸±�ªk��±�)'°�­�§©(1%'&�&'&�(�)�*�+�(�¤'¥¦¦ . ¨�¨



��� ��� �����7(���!��

@�2����	���t�0M � :¬�$�	P+���	� O �<���	U�5>� �h��:��#EG��3T�$���$����9 �t�hr1�	�s=���q$����6�UK7z��������q$W¹4�U%P
���$��:�� �	P+2	P%U%P+�	P+����7 :�2���4��$9��fU£�tP+2���=	�����	���Dh �	�tPN5	�8�%=	���l3%����:�x
@-?�U+��6 ��P+�	P+2�6�4�U%P ���$��:�� � � F ��@ Ê$F 9 9 9 F����©�	�tP+Ñb� �T=	���Z3%����:�x�Wz�$�tP+���	���z�����

�8@#� � � B ��L � xw@�2	PN=	�	�T5��Tr1�	���©������� � # x���$U%U%�t�$��2��	�d��2	��U+��?"Ñn3h�$��:���?"��?¬Ñ :�2���4�?"Ñ � @�� � �G0�� O =�P�0�� h - ������P+2�~
4;�\5I��U%��PN=	����7�ÑaM ��9 ���$��:���� � �	� i x ��U+�	���¬����� � � B � L�@ �<Ê�x'.�2���4;��7 � =�PN5	����� i���A=	4�P�U+4�7¬3%��WXPu:¬�����	�$�	P+����W � � � � i xH@-?�U+��6�� i - �h�A��3u���#Ez�"4<:¬�$���$2	�$9�5�P+r1���=[? O � � i x@-?�U+��6^B � @�� �z� B � � L��<B i @�� �z� B � i L�-a��2	����q$2���3%W}���$�	P+: � � ��� i ��� �$:�2�?¬r<~�	��U+���f»��hxt
���9�=[?¬��UK7G+ � �<+ i ���h��:��	P������
�h� �$:�2	P%U+���	��U+����� � @m� / * B � � L�� � i @R� /�� B � i L��	P£�	P+2	P%U%P+:;��Ñu��UK7 d
e � �V�z�\B��  M-�zL�@CBCB  1 2 K F B  P=2 K K L�=�5	7 �	P+:¬�$���$2�WQE 2 K F:2 K K -�É�F,"G@CÊ$F # d
���¢������P+2�4;�\5	W ��B�BCB  1�2 K F B  L�L��	��B�BCB  F B  P 2 K K L�L�5�P+rA���14<2���3%��WQE :¬�����	�$�	P+���h��EU+4�7�3%�	��U+���f���	�TrsP%U+��4;�`�  �Qh0� "G@ Ê$F # x
@-?�U+��6 �  �gh @ � � � �

�
 � �tB�BCB  1�2 K F B  L�Ll� � � �/�tB�BCB  F B  P 2 K K L�Ll� �

�
 �"G@ Ê$F # x�
���9�=�P+��UK7 �%=	�	��U+4�7�3%����7 �$:�2	P%U+���	��U+��6N� �tP+2���=	��������h0�"�h��:;��7 ����� �  �

� �:"l@ Ê$F # x�GV��:Z:;��:R���$��:�� � � ��� i �	�tP+Ñb� �T=	���Z3%����:�� ��� ���	�hrsP%U+��4;��� �� F3� �iU%�%=�P+2"rA����UK7¼4Æ�T=	�	�$9¥:"�����	�$�	P+����P U+4�7¬3%�	��U+���¼���	�TrsP%U+��4;� � � � � � @ � ��h0�
� �� F3�

�
i -04<=	2�? O �$9�x�@-?�U+��6N� � � � � �'�

�
 � �

� � "G@ Ê$F # x
@£�$:;��r P%���������<:�2���4�WXP � � �� @��^�£B � � � � � �	� i L��	P£�	P+2	P%U%P+:;��Ñu��UK7zxG���:d:;��: �� M � � @ ���X�������$��:��}���	�Tr P%U+��4;� �� M � =��T5	r1��W ��2������\=�5�P+rA����6������P+2�4;�\5[? 0C� h x 9b��U+Ñ�=>�RU�5�PN=[?�P+���������R:�2���4�WXP��� � � �t� O ?"�Z�	P+2	P%U%P+:;����6�U'7

���%5	6�:¬�Â4Æ��P�E ��3Z���$�	P+: � � ��� �@ Ê$F # �u:"�$���$2�WXPZ��2������\=�5�P+rA��� ������P+2�4;�\5[? 0����
���$���	P%P�������P+2�4;�\5[? 0 � @ 0 �£B�� � �:� i L.�40tx
���9�=�P%�8U+4�7¬3%��?¬Ñ��$:�2	P%U+���	��U+��6�B�������P+2�4;�\5>��0 � �h�h��:�?"ÑÆ������B�M � � @ ���PBC� �<x
�8�	�TrsP%U+��4�� B��&h �	�tP%P+� =	4�P :"�����	�$�	P+����W U+4�7�3%�	��U+���=B1�¥� B � x @£��U+:"�T5	6�:�?
BFB ��h L M}B�� i ��h L �@>�§� B

� �>� � �&� �i �>� � �X���)B � � � �i - U+4�7�3%�	��P
���	�Tr P%U+��4���x
G���:¢:;��:M�	�A��2	PN=	�	�%5��hrsP+����Ñ � i � � i ����� � i M^�

�
i �@ �����	�$�����/?1����� ��B�BCB i F B i P2 K Ki L�L�@ � i M �

�
i @ ���M � �i �R�

�
i � � i x ]�3<U+4�7¬3%�	��U+��� � i ���

�
i 3h��:�5	Ñu���$P%���©������ �i � � i �������\5�� O ������WXPu2��$U%U3?"r<=�P+����7¢��2���4��%=	7��s:¢4�W�4��%=[?�������� ��B�BCB � 1 2 K � F B � L�Lt@

�� MF� �� � � � �Nxw9b��U+Ñ�=>�MUK5�PN=[?�P+�\�������>B
� � � i F
B � � � � x@�2	PN=	�	�T5��Tr1�	���������$��� | 0 � F&B�� @ �V�z�\B ���hLNx:GI� O =>� =�5	7 �	P+:"�$���$2	� O �32 - É

=��%5	r1�	�§4�W��	�%5	��7���6�U'7d4�:�5	Ñu�	P+���	P��tB�BCB � 1 2TF B � L�L8� B#M	� i @ B � x I =	2�? O �$9
U+���$2	�$��W��I=�5	7f4�U%P�ER=���U+�h�����$���	�8���\5	WQE32<-CÉ	��B�BCB���1 2hF B���L�L�� B � ���	�$�����/?R�����
���$��:;�#�����	�tP%P+�M���$�Mr P£3%����:��������1� � � xHGV��: :;��: B

� M<B1�8@ �������#�����|'0 � x
]��h��:�� ����| � i x ]�3 /%��� O �Z3h��:�5	Ñb���$P%���.����� ���Z� � i x;���$U%U3?¬r<=�P+����7z�������\~5�� O ������WXP���2���4�PN=�P+����WX�C4�W�Î<P��t�	�$:;��3%W�4;��Ñu�\�����������R| � i x � ��� O =>�$���f� � i� ��x =Ix

¨ O � ¥#)�±£��¥#)'­� �±�«�³ ¥�§g¡F­£¢�­1³ ¥1(�¥�º�¥�®!­£¢'(�·�±�ª���±�)�°�­�§ê(�%�&'&'&�(�)�*�+�(�¤'¥¦¦ .



���������
	���
�
�����������������������������������	���
�� ����������!#"�
��$�
�&%'�)(�*+	��'��,-	.*/����"0����1����)23
�!

b¹2	P+3�?$5	6h�h����PA3h�<:"�$�	P+���	��PA���	U�5��MÎ1� O �$41�	�%5[?¬���	���	�����
B ����� �

� � L&�ZB ����� � � i
� � L�@ ��8� � i 9


£����B�BCB � 1 2 K � F B � L�L.� ��f� �tB�BCB � 1 2 K � F B � L�L.� � �� � � � x .�2	���tP£��� O ����� � M � i @ ��x@£�%5[?¬�	P+���	��PA��2	�$����4��$2	P+���	PA3h��4�P+2�Î<�$P+�G=��$:;��3h����PN5	6�U+��4���x
��U�5	��hmi�-¥�$2��	P+������2�?�P%�t��P.���	� O ����q$2���3%�	P��$��2��#E;�T=	�	�f:���2	�$����4��$2	P+����Ñ�Ut��P%���

����� jdkk; mlh i - 4$5��Tr P+���	P�x
b¼UK5[?"���$P���:"� O =>�`hRis�	P%�$2��	P+������2�?�P%�t���z=��$:;��3h����PN5	6�U+��4��l��P%�$2	P%��WC3h��4�P+2�Î<�$P+�

U%�$4��tP%U+���	��P���2��	�tP+�	P+���	PA5�P%�t��W e �lU�5�PN=[?¬Ñ.M P+9 5�P%�t��W

� � ��� � ���A��� #%Y<] � i �n&�,	#%Y��8)+e�, � #�!\« � � )%¶'(��\v;c�!$Y<(K��« �8k�» � m � i � �
� *>)+`$�©)­�>^�c�*	($)�,	*��$)+v�Y<,�c�*	($)£(�Y (�e'�"!�¤})+*�,�)h° ��($¶'ª�! � � B ��L.| 4 É�F�� # 5¬°
y �A: �£3��£� P�5¢6 UX�s4s� 5�P%�t��W�x GV��: :;��:��tB¨»��NL�� � -p�	P+�	P+2	P%U%P+:;��ÑaM �	P%UK7

:"��������:���W��t����9�=[?¬��UK7Æ�$:�2	P%U+���	��U+��6 BÃ/%:�4;�����$2�� � ���h��:;��7������ B M���B¨» � LA@ ���V�
O ���tP%���t�$2[=£��3T��� k � i+� B m
�gi$x.]�3A5�P%�t��W e 3h��:�5	Ñu���$P%���©��������q$2���3s:�2���4��$9
� ��2�� O ���tP%���t�$2[=£��3T�tP��Â�t�hrsP+�1�	�tP+��6 O ���t�$���$�����	P%U+:���9 ����� É�F��<Ê�x���UK5	� � � B	�N�
�zL @ É������§���	�hrsP%U+��4��
�D� �tB¨»��¾LM� O 2�����������4;�$P+�Æ=	�	U+:d4 ��i$x I 5�PN=��$4;����PN5	6��	���
��B¨»��NL�@��X�z�\B	� � ��B¨»��NL�L�� O 2�����������4;�$P+�¢=	�	U+: 4�� i$��� � � B ��L�@¹É�x@-?�U+��6 � � B	� �'��L�@ �<Ê�xHGV� O =>�<:�2���4;��7�� �'� O ���t�$���$����� 5	Ñ�q��$9 ��3£:"�����	�$�	P+���
:�2���7	���gis��:;��r<=>��7 :"�����	�$�	P+���h�#���gij�	�tP%P+� O ���t�$���$�����	P%U+:���9 ����� �<Êh�NxHb.WXq�P+2	P%�
��?���3����#E ��:"�$���$2���7<�	�T= =�P+9	U+��4��	P%�
� �z� �	P+2	P�E;�T=	���£4 ��� i x�G���:<:;��:<� � � B � � i L ��@# �����1�,� � � B ��L �;@#� � � B	�j�z�/��� �/�zL ��@ # x

��P%�t���<=��$:;��3h������x
GIP%�$2	P%���G�	�%5	�	��U+��6�Ñ =��$:;��3h������x

�`ÿ � ��
���x��ws{x#s����ws�x#t'u|s��	��
��o�fs��1��s��^s�u��§
 ���^sI���1�|s����$x#t©�{}
� } �wt�s�u|}

���$U%U%�t�$��2��	� U%P%�tP+9	U+��4�� �$����q$2���rsP+����9�� � k�Ä�m Ä � ��� � B 6 LX@ �� $ B 6 P # LN� �X| �Z�
O =�PMÄl@ È É�FTÊNË �IÄ � @SÈ i� $ F �� $ � * Ë x#.���:Z��3%4�P%U+���	���V���	�hrsP%U+��4��8��U%��U+���$��� 4 ���$���	��U+�����3s��P�E ���$�	P+:R�$��2	P+3%:;�¢Ä>�	:¬�$���$2�WXPs4¢��2	�$�����	�$9ZU+�	U+��P%�tPsU+���	UK5�P+����7f�t�hr1�	�G��2	PN=�~
U+�h��4�����6§�h��:��.������4 �#EÆ3h�����	U+�dq0?$=[?"�§�$��U3?"��U+��4��$4;����6ÆPN=	������A�W�x @-?�U+��6 6 |CÄ��
�1@!� � B 6 LN� 6 @ "

 � �
�� � 6  � �1@ "

 � �
�� � �  � 6  F �  | 4 É�FTÊ$F # 5���2��M4�U%P�E>" | �Zx/GV� O =>�

� � @ 9 9 9 @ � � �z� @ É��/� � @ # �/� � �  @ 6  � "¥| ��x ]�3 /%��� O ��3h��:�5	Ñu���$P%���������
� � BE��L�@}�*M Ä � x
@-?�U+��6�µ � k¬��m ��-SU+�	P+����W�9f���$q��$2 O ���tP%���t�$2[=���3T�t�$4����	�hrsP%U+��4;� .��������$2���x

GV��:l:;��: �R@ 4 É75%� �
� � �

Ä � �����<:"�$2�2	P+:����	� �$��2	PN=�PN5�P+�	�G�$����q$2���r P+���	P

µfk��fmo�MF

� ¥#)�±���¥#)�­� �±�«�³ ¥�§-¡m­£¢�­1³ ¥1(�¥�º#¥�®!­£¢�(�·¸±�ªk��±�)'°�­�§©(1%'&�&'&�(�)�*�+�(�¤'¥¦¦ . ¨ 0



��� ��� �����7(���!��

µtB 6 Lt@�� É�F P%U�5	� 6 @¹É 	
� � ��µ � � � �z�� B 6 L¾F P%U�5	� 6 |lÄ � ����| �Zx

9b����q$2���rsP+���	P<µ8- 4�3h���	���	��~ �%=	�	�$3%���%���	��x�@�2	�$4�P+2��	��P O �1�	P+��2	P+2�W�4��	��U+��6	x
@�2�� 6 �@}És����9�=[?¬��UK7 <G| �Z�"�h��:"��P������ 6 |8Ä 1 MM���¬� �$:�2	P%U+���	��U+��6`�¥���$��:�� 6 �

=�5	7G:¬�$���$2	�$9��n��Ä 1 M<���¬µ ����@ � 1 ��µ 1 � � �z�1 ����x�9b����q$2���rsP+���	PAµ � �f-p�	P+��2	P+2�W�4��	�
:;��: :¬�����	�$3%��A���7 �	P+��2	P+2�W�4���WQEl�$����q$2���rsP+����9�x
@�2�� 6 @¹É1�	P+��2	P+2�W�4��	��U+��6��$����q$2���rsP+����78µR��q�P%U+�	P+����4;�$P+��U'7l�	P+2���4�P+�	U+��4����

� µtB���L ��� # � �:����2�� 4�U%P�E � |l�n� 4 É75�F
4�W��	�%5	�	P+���	P :"�$���$2	� O � O ��2���������2�?�P+��U'7���P%���������ZµtBEÄ � MR��L<@¡Ä � MR�¹��2��Æ5	Ñ�q����
��| �Zx
G���:8:;��:l� - :"��������:���� µZk¬�Zm � - 4�3h���	���	��~ �%=	�	�$3%���T���	� � �	P+��2	P+2�W�4��	���©���

µ8- O ���tP%���t�$2[=£��3T��x �
ÿ �Fx��wsI���wv �
�|u�
 �1��uwv

@C2 � ��P�2 ��x �s��:"U+��2�?�P%�=" | � � 4 Ê)5;x ���$U%U%�t�$��2��	�d�$����q$2���rsP+���	P

��  k 0  �  �z����� � Ä � mC0  �
 �z��
��� �
Ä � F

��  B 6 L�@ �	�
 � � F P%U�5	� 6 |lÄ � F ��@CÊ$F 9 9 9 F@"�1 # d
6 1 i� � � * F P%U�5	� 6 |lÄ  �z� d�  ��i 6 P i � F P%U�5	� 6 |'0  x

W>=�P%U+6GÄ � - ��P�rsP��������1� 4�W�Î<P��.0  @CÈ É�F �� � � * Ë x
£P+��2�?$=	�	�l4���=�P+��6	����������  - O ���tP%���t�$2[=£��3T���V��2����	P%�¹=�5	7f5	Ñuq�� O � 6 |(0  � �z����� �
Ä � ��   B 6 L�@ 6 � �� 	 B 6 L.�@ 6 ��2�� � @ Ê$F 9 9 9 F@" 1�Ê�x
@£�$:;��r P%���>�����¢�Æ� 0  �

 �z����� �
Ä � ����  BE��L.@¥��xQ@-?�U+��6 � @ ��  B 6 LN� 6 @ "

1 � �
�� ' 6 1 �

��@ "
1 � �

�� ' � 1 � 6�1 F � 1 | 4 É�FTÊ$F # 5 ��2�� 4�U%P�E4<�|��o- 3h�����	U+6l���	U%PN5 6 F �Æ|¼È É�FTÊNË�4

��2	�$�����	�$98U+�	U+��P%�tPsU+���	U�5�P+����7zxw]£�tP%P%�

Ä � @ 4�6 � 6 	 @}É�F � @CÊ$F 9 9 9 F�� 1 Ê$F 6�� @ # 5AF���@ Ê$F 9 9 9 F@"�1 Ê�F
0  @ 4�6 � 6 	 @¹É�F � @ Ê$F 9 9 9 F@"�1�Ê)5�F

��3��	P O �MUK5�PN=[?�P+�\�������M���%0  �
 �z���&� �
Ä � x'.�2	���tP���� O ���

� � @¹É�F � 	 � � @ 6 	 ��2�� 4�U%P�E � | �RFXP%UK5	� 6 |lÄ � F ��@ Ê$F 9 9 9 F@" 1 # 	

O � � ¥#)�±£��¥#)'­� �±�«�³ ¥�§g¡F­£¢�­1³ ¥1(�¥�º�¥�®!­£¢'(�·�±�ª���±�)�°�­�§ê(�%�&'&'&�(�)�*�+�(�¤'¥¦¦ .



���������
	���
�
�����������������������������������	���
�� ����������!#"�
��$�
�&%'�)(�*+	��'��,-	.*/����"0����1����)23
�!

� � @ 9 9 9 @ �  �z� @¹É�F � 	 @ 6 	 ��2�� � �("©FjP%U�5	� 6 | Ä  �z� F
� � @ 6  �z� P # @ # F � 	 @ 6 	 �  �z� ��2��l4�U%P�E � | �RFjP%UK5	� 6 | 0  �z� F

�\x P�x ��  B 6 L�| �¹=�5	7Ç5	Ñuq�� O � 6 |¼���t��5	� ��  BE��L��S��x I =	2�? O �$9ÂU+���$2	�$��W��.� @
� !>BE��L�@ ��   BE��L�@ ��  B ��  �z� BE��L�L�� ��  BE��LNxI 5�PN=��$4;����PN5	6��	��� ��  BE��L�@¹����� :"�$2�2	P+:����	�¢�$��2	PN=�PN5�P+� O ���tP%���t�$2[=£��3T��  @ ��  � �©k;�fmÔ� 9
@£��U+��2	�$�	�Â��P+�	P+2�6¢�	�1U+�	P+���	�$98U+�	U+��P%�tPA�$����q$2���r P+����9Rµ � @ �  k"�fmÔ������| �Z�

O ���tP%���t�$2[=£��3T���  k��fmo������q�5>�\=>��Ñ.Ms��9fU�5�PN=[?¬ÑaM �	���lU+4��$9	U+��4;�$����Á
�h���   @ � !Gk"�fmÔ�|d
e ����	 B 6 L.�@ 6 ��2�� � @ Ê$F 9 9 9 F@"�1 Ê�=�5	7 5	Ñuq�� O � 6 |l�<� 4 É75�d
�����  BEÉ;L�@¹É�x

@£��U+��2	�$�	�Â�	� O ���tP%���t�$2[=£��3T�/?��  2��$U%U�5���P+���	P @£�$����2;7 O �����1?  @CBI;  FEH  F¾» � LNx
9b���tP+���	���������1:�2���4;��7 �Rk�».�.m ;  ���tB � i��

� K L�@pB 4 B�5�FKÉ;LN��7�4$5	7�P+��UK7 �j~¨:�2���4��$9l��2��
5	Ñuq����)" | � � 4 Ê)5s� 	��b~¨:�2���4��$9 ��2��G" �@ # x
� ���$���/�f���;���V��� �A� �>(�#%Yj�¬!�*�#%Y<c�!.;  * , ;  � *>)j¶¾(+_A)+(+_�(K�¬·�*	^ `$�©,�" � �@4" i «" � «�" i | ��� 4 Ê)5¬°
y¡� :Ç��3¢���fP<5 6lU1�l4l��x @�2	PN=	�	�%5��hr1�	���t����9�=�P+��UK7 O ���tP%���t�$2[=£��3T�o� k

;  * m ;  � x����$U%U%�t�$��2��	�¥:�2���4�?¬Ñ �Âkz»��£m ;  * � ��B � i��
� K Lu@SB 4 B�5�FKÉ;L��ZP%P1��q$2���3

�`�/��x I ?7M P%U+��4�?¬Ñu�<=	4�P£4��$3T�t�Tr1�	��U+����x
� �h���`� ��B¨».�NL�@��  � BEÄ¢Å 4 É75�L�� ;  � ��3+=�P%U+6��  � k;ÄGÅ �Rml;  � -0��2	��P+:�A���7��Nx
@-?�U+��6	� � k>»��bm ;  * -Q�	P+��2	P+2�W�4��	��P<����Ð�P+:�����4��	��P1�$����q$2���r P+���	P�� � � B¨»��NL �@

��B¨» � LNx�GV� O =>� ����
� � B H  * � � � L
� � B H  * �/��L

����
@4" � 9

@-?�U+��6 �� � k>» � m ;  � -Q�	P+��2	P+2�W�4��	��P<����Ð�P+:�����4��	��P1�$����q$2���r P+���	P�� �� � B¨» � L �@�  � BEÄ¢Å 4 É75�LNxwGI� O =>� ����
� � B H  � ���� � L
� � B H  � ���`� �zL

����
@4" i 9

I 5�PN=��$4;����PN5	6��	���

" i @
����
� � B H  � �Q�`� � � L
� � B H  � �Q�`�/�zL

����
�@ ����
� � B H  * �/� � L
� � B H  * �/��L

����
@4" � 9

GV��:§:;��: � � - ��2	�$��3%4��%5	6��	��P¢�	P+��2	P+2�W�4��	��P¢����Ð�P+:�����4��	��P¢�$����q$2���r P+���	P���=�5	7:"�$���$2	� O ��� � B¨»��NL �@��tB¨»��NLN�V� �Ç7�4$5	7�P+��UK7 �j~¨:�2���4��$9¹���\x P�x 4 5	Ñ�q��$9§�$:�2	P%U+���	��U+���

� ¥#)�±���¥#)�­� �±�«�³ ¥�§-¡m­£¢�­1³ ¥1(�¥�º#¥�®!­£¢�(�·¸±�ªk��±�)'°�­�§©(1%'&�&'&�(�)�*�+�(�¤'¥¦¦ . O �



��� ��� �����7(���!��

���	�Tr P%U+��4;� ��B¨» � L ����9�=�P+��U'7��	P+��2	P+2�W�4�����7 ����Ð�P+:�����4�����7�:�2���4;��7��N����2��#E;�%=	�	� :
��2	�$����4��$2	P+����ÑpUg?¬��4�P+2;r<=�P+���	P%� Z	x
W©���T�����\�©U�5[?¬����9§� �h�.�	P�2	PT�\5	��3�?�P+��UK7zx
� e ��� ���tB¨» � LG� �  � BEÄ8Å�BE�'MRÄ 1 L�L�=�5	7Ç�	P+:"�$���$2	� O � <Æ| ��x�ba/%����� U�5[?¬���$P

����9�=�P+��UK7Æ�$:�2	P%U+���	��U+��6 B � ;  � ���	�hrsP%U+��4;� � � ��B¨»��NLN�V5�P+rA�)M1��7�48���	�hrsP%U+��4�P
�  � BEÄ�Å§BE�<M Ä 1 L�LNx�y�5	7 5	Ñ�q��$9f�	P+��2	P+2�W�4��	�$9f����Ð�P+:�����4��	�$9R:�2���4��$9 �� � k�» � m B
�	�tP%P%� � � � B H  � ���� � L �;@#� � � B H  � ����zL ��@%" i � O =�P��� @ �`� �Rk"»��.ml;  � xb���U+�	�%5	6�3T�$4;��4�Î �	U+6���2	PN=�5��Tr P+���	P%� Z	������9�=�P%� �$:�2	P%U+���	��U+��6 � � ���	�hrsP%U+��4;�
��B¨» � LN���h��:�?"Ñ¼����� =�5	7 4�U'7�:"�$9 �	P+��2	P+2�W�4��	�$98����Ð�P+:�����4��	�$9 :�2���4��$9�� � k"» � m � �4�W��	�%5	��7�P+��U'7l2���4�P+�	U+��4��

" � @
����
� � B H  * � � � L
� � B H  * � �zL

����
@ ����

� � B H  � �Q�`�/� � L
� � B H  � � �n� �zL

����
9

���$U%U%�t�$��2��	�Æ�$:�2	P%U+���	��U+��6 � @�� � M&���z�TBFB Lt���	�TrsP%U+��4;� �tB¨»��NLNx/GV��:G:;��:��¢-
�j~¨:�2���4;��7z������9�=�P+��U'7 �	�<:�2���9��	P+9l�tP+2	P£�%=	���1����Ð�P+:�����4�����7 �	P+��2	P+2�W�4�����7 :�2���4;��7
� k"».�.m � xVy�5	7 /%���$9l:�2���4��$9

" � @
����
� � B H  * � � L
� � B H  * � �zL

����
@ ����

� � B H  � �Q�`� � L
� � B H  � �Q�`� �zL

����
9

I =	2�? O �$9lU+���$2	�$��W���=�5	7 �$����q$2���r P+����7:�`� � k¬» � mCB =��T5	r1�	�14�W��	�%5	��7���6�UK7
U%���$���	�$Î<P+���	P ����

� � B H  � ���N� � L
� � B H  � � �n� �zL

����
@ Ê^�@%" � 9

@£�%5[?¬�	P+���	��P���2	�$����4��$2	P+���	Ps3h��4�P+2�Î1�$P+�1=��$:;��3h����PN5	6�U+��4���x

� ���$���H�����"�V������������� )+#%Y1c � )+Y c%&�(h¤¥)+*	,�)
jQk�; i m � i�«£¶¾ª�)�; i � Y<(\[
Y<!T&	]�*�(�)s`$�>(�#%Yb�"!$*	#%Y1c\(u�¬!�#%#'&�($)+*	,"½�? i @aBI; i FEH i F¾» � L�,�gM`��>,"_�)­�¬! ±\«�`	(�#%Yb�>($)+*	[*	($¶'(1`�(M¶'(%_�)+(%_£('�¬·t,¬gT_ � � i k;�fmÔ��« � i��a&	,	#%Y �8)+e\, � #�!;°

y � :§��3¢���fP 5§6lUM� 4l��xo�h�-@-?�U+��6 � @ BEDGFEHIF¾» � Lb-¡��2���4����\5	6��	��P¢2��$UN~
U�5���P+���	P�@£�$����2"7 O �����Z���	��U+��2	��P+���	��P �	� O ���tP%���t�$2[=£��3T�/?F���8k��§m ���Nx @£��U+��2	�$�	�
3h�$��:���?¬����P �$����q$2���rsP+���	PG� � k�Dom ; i x§
����	�������	���������R3h�$��:���?"��WX�p����3%W�4;�\~P+��UK7Z�$����q$2���r P+���	P�����2��R:"�$���$2	���}��q$2���31��2	�$��3%4��T5	6��	� O � 3h�$��:���?"��� O � ���	�hrsP%U+��4;�
3h�$��:���?¬�\x

���$U%U%�t�$��2��	� ; � -Ô���$�h�\5	6��	��P ��2	��U+��2����	U+��4���2��$U%UK5���P+����7�? � @ BI; � FEH � F¾» � LN�
�	��U+��2	��P+���	� O �¢�	� O ���tP%���t�$2[=£��3T�/? � i k��RmÔ���

� i B 6 L�@ �	�
 6 P i � F P%U�5	� 6 |§È É�F �� Ë d

6 1 i� F P%U�5	� 6 |§È i � FTÊNË x

O e � ¥#)�±£��¥#)'­� �±�«�³ ¥�§g¡F­£¢�­1³ ¥1(�¥�º�¥�®!­£¢'(�·�±�ª���±�)�°�­�§ê(�%�&'&'&�(�)�*�+�(�¤'¥¦¦ .



���������
	���
�
�����������������������������������	���
�� ����������!#"�
��$�
�&%'�)(�*+	��'��,-	.*/����"0����1����)23
�!

���$U%U%�t�$��2��	� �h��:�rsPs�$����q$2���rsP+���	P��lk;D ml; � �

��B�BCBNF 6 L�L�@ �	 
 B # BNF � � P i� L¾F P%UK5	�`B.|§È É�F �i L�d

B # B
1�Ê$F � � L¾F P%UK5	�`B.|§È �i FTÊNË x

��P O :"�M4���=�P+��6	�	�����1/%���M�$����q$2���rsP+���	Ps7�4$5	7�P+��UK7 O ���tP%���t�$2[=£��3T�t����x
���$U%U%�t�$��2��	�d�$����q$2���rsP+����7

� � 1 k"DnmÔDGF � � 1 B�BCB¾F 6 L�L�@CBCBNF � 1 B 6 L�L¾F <G| � 	

� � 1 kk; � ml; i F � � 1 B�BCB¾F 6 L�L�@CBCBNF � 1 B 6 L�L¾F <G| � 9
Ï����d�$����q$2���r P+����7d7�4$5	7�Ñu��UK7 O ���tP%���t�$2[=£��3T���$���¹��� U+4��$9¹��q$2���3��X�h��:d:;��:d�$���
����Ð�P+:�����4���W��t�	P+��2	P+2�W�4���W �§���	�hrsP%U+��4;�RDMF�; � 7¬4$5	7�Ñu��UK7§:"��������:��h�$����x @£�%5���~
r1�	�

� � B�BCBNF 6 L�L�@ �	�
 B # BNFKÉ;L¾F P%U�5	�`B.|§È É�F �i LN� 6 @¹É 	B # B 1�Ê$FKÉ;L¾F P%U�5	�`B.|§È �i FTÊNË � 6 @¹É 	
� � 1 ���^� � � �z�1 B�BCBNF 6 L�L¾FÔP%U�5	� 6 |l�*M�Ä 1 9

ys�$:;��rsP%�Â3h�$��:���?¬����U+��6¢�$����q$2���r P+����7G� � x@�2	PN=�U+�h��4��	� D 4£4���=�PX��q$Ð�PN=	���	P+����7M�	�$����2��	�£�	P+�	P+2	P%U%P+:;��Ñ.Ms�#E;U'7M3h�$��:���?¬��WQE
���	�TrsP%U+��4	Á

D @ � � �
1 � �

B 1 F

� @�� BEÄ Å 4 É75�L�@ 4 BCB¾FKÉ;L�| D �0B�|f» � 5�F
B 1 @��lBEÄ¢Å§BE�*M�Ä 1 L�L�@ 4 BCBNF 6 L.|lD � 6 |8Ä 1 5�F <G| � 9

@�2	PN=�U+�h��4��	��; i 4Z4���=�P ��q$Ð�PN=	���	P+����7��	�$����2��	�Z�	P+�	P+2	P%U%P+:;��Ñ.M �#E;UK7�3h�$��:���?¬��WQE���	�TrsP%U+��4
D @ �� � �

1 � �
� 1 F

�� @�� i BEÄ Å 4 É75�L�@ 4 BCB¾FKÉ;L�|F; i �0B�|f» � 5�F
� 1 @�� i BEÄ Å BE�*M Ä 1 L�L�@ 4 BCBNF 6 L�|F; i � 6 |lÄ 1 5�F <1| � 9

W>=�P%U+6 �Sk¬Ä¢Å �Zm DG��� i k"ÄGÅ8�RmL; i - ��2	��P+:�A�����x 9b���tP+���	���>�����M���	�Tr P%U+��4;�B 1 F � 1 � <G| �Z��7�4$5	7�Ñb��U'7 �h��:�rsPs�$��:�2�W���WX���l4MD �`; i U%���$��4�P+��U+��4�P+���	��x@-?�U+��6GB �¼D -Ã��2	�$��3%4��%5	6��	��PG3h�$��:���?"����PG���	�TrsP%U+��4���� � @ � � BFB<LNx&@-?�U+��64��  @pBIO  F �  L.|	��5  � � -a��2	�$��3%4��%5	6�����7 �	��UK5�PN=��$4;����PN5	6��	��U+��6¢���$�	P+: ���	�hrsP%U+�$~
4;��� �zU�E;�%=	7#M<��7�U'7Z:8���$��:¬P �3� |�; i x�@£�$:;��rsP%��������� �3� |�� x�b��$3T�t�Tr1��WC=	4;�U�5[?¬����7 x

� ¥#)�±���¥#)�­� �±�«�³ ¥�§-¡m­£¢�­1³ ¥1(�¥�º#¥�®!­£¢�(�·¸±�ªk��±�)'°�­�§©(1%'&�&'&�(�)�*�+�(�¤'¥¦¦ . O �



��� ��� �����7(���!��

�	� � �3� | � 1 ��2�� �	P+:¬�$���$2	��� < |���xnGV��:Ç:;��: �  m �3� ��� 1 - �$��:�2�W��h��7
�$:�2	P%U+���	��U+��6l���$��:�� �3� �I��������9�=�P+��UK7 " � | �Z�z�h��:¬��P1����� ��2��Z4�U%P�E " -#" � �  |
� 1 x�]�3 ��� O ���������,� � � H ' k B 1 m � 1 - O ���tP%���t�$2[=£��3T����3h��:�5	Ñu���$P%��������� �  @
� �z�� B �  Ljm � � @ � �z�� B �3� Lj��2�� "8m � x&GV��:Z:;��: B -S3h�$��:���?¬����� �  |;BQ��2��
4�U%P�E " | �Z�����
� � @ ��� � ���� �  | Bp�

�3� @=� � BI� � L.|<� � BFB<Lt@�� x
�	�
� � �3� | ��Çxw@-?�U+��6 4 �  @pBCB  F 6  L.|'B �P� � BI�  L�@ �  5  � � - �	��U�5�PN=��$4;����PN5	6$~

�	��U+��6M��2	����q$2���3T�$4¢/K5�P%�tP+�����$4 �	��U�5�PN=��$4;����PN5	6��	��U+��� 4��  5  � � xG���: :;��: ��2	��P+:�A���7<H i kk; i m »���- �	P+��2	P+2�W�4����������^O  mlO � ��2�� "Gm � xH]�3
��� O ���V�����NB  @�� �i ��5	� B  @�� �

� �
i �I4�W���P+:;�$P+�\������� �	��U�5�PN=��$4;����PN5	6��	��U+��6 4 B  5  � �2��$U+���\=>�$P+��UK7����8=	4�P �	�T=	�	��U�5�PN=��$4;����PN5	6��	��U+��� 4 B  * 5  � � � 4 B  � 5  � � �t�h��:��	P������

B  * m � i ��B  � m � � �i ��2��,"�m � xG
£PG� O 2�����������4;��7§��q0M �	��U+�����Vq0?$=�P%�¼U+�����h����6	�
�����1�%=	���1��3£/%���#E �	��UK5�PN=��$4;����PN5	6��	��U+��P+9RU%�T=�P+2;r1���¢:"�$�	P+���	��P����	UK5��1/K5�P%�tP+�����$4¢�
B  m B � ��2�� "Gm � � O =�PgB � @ �

?
i ��5	�`B � @ �

? � �
i x9uq��$3%���T���	��� � @CBCB � FKÉ;LNxQ9b���tP+���	���	�����
� � @ � �z�� B �3� LNx

���$U%U%�t�$��2��	�����$q��$2 ���	�Tr P%U+��4 4 � � 5 � � � �$� � @ 4 BCB¾F 6 L�|lD � 6 5 � � /� - FHB.1FB � |�
� ��!
B �31 �� F��+P �� L85���2��}�	P+:"�$���$2	��� =£��:¬U+��2	�$4;���	���&+}| BEÉ�FTÊhLNx 9b���tP+���	���������

4�W��	�%5	�	P+���	P �	P+2���4�P+�	U+��4;� 6 5 � � /� - 2���4��	��U+��5	6��	�¢4�:�5	Ñb�	P+����Ñ 6 | 4 É75 �
��1 � � � �

Ä 1 x

b�U%P.� � �$��:�2�W���W��;�h��:1:;��:����z�TB�� � Lt@ 4�4 B85tÅ 4�6 5<|lÄ�Å���� 6 5 � � /� - FHB 1�B � |§B 1AÊ 1�� F 1AÊ)P �� L �jB �z�� F �� L �jB Ê�1 �� FTÊ)P �� L85.�$��:�2�W���W 4b���$�	�%5�� O ��� ��2;7��t� O �b��2	�$��3%4�PN=�P+����7 x
.�2	���tP ��� O ����U+�	U+��P%��� 4 ���z�\B�� � L85 � � � ��q$2���3�?�P+��q���3�? �$:�2	P%U+���	��U+��P+9Â���	�hrsP%U+��4;�
� �z� BI� � LNx I 5�PN=��$4;����PN5	6��	��� 4 � � 5 � � ��	 q���3h�1�$:�2	P%U+���	��U+��P+9f���$��:��F� � x

� ���\5�� O �����	���zU+�	U+��P%��� 4 �� � 5 � � � � �� � @ 4 BIO�F �	Lb| ; i �fO�1yO � | �
� � !
B � 1 �� F���P

�� L¾F � 5 � � /� - 5A��q$2���3�?�P+� q���3�? �$:�2	P%U+���	��U+��P+9f���$��:�� �3� @CBIO � FKÉ;LNx
G���:f:;��:ÂBIO  F �  L�m BIO � FKÉ;LN� ���G=�5	7l5	Ñ�q�� O � ��| � ����9�=�P+��U'7 � @ � B �VLb| �Z�

�h��:"��P������<��2�� 4�U%P�E "*- � BIO  F �  L�| �� � � �  � �� - x I 5�PN=��$4;����PN5	6��	���"�  m É<��2��
"¢m � x+GV��:l:;��:l4�:�5	Ñb�	P+���	P �  |fÄ 1 4$5�P+�	P+� 6  |8Ä 1 � �  @¥É14$5�P+�	P+� 6  @}É������
6  mÔÉ1��2�� "Mm � x

I 5�PN=��$4;����PN5	6��	���I=�5	7f5	Ñuq�� O � ��| � ����9�=�P+��UK7�
�@�
�B �VLN� �h��:"��P1����� ��2��Z4�U%P�E
" -

�BCB  F 6  L.| � � ����x P�xjBCB  F 6  LtmÍBCB � FKÉ;L.��2�� "Gm � xHGV��: :;��:`�  @CBCB  F 6  L.| B
�l���	�hrsP%U+��4�� BC3h�$��:���?¬���������
� � @CBCB � FKÉ;L�| BC� �3� @%� � BI� � L.| � � BFB<L�@ �ax]�3R��� O ���X�����Ç�	��UK5�PN=��$4;����PN5	6��	��U+��6 4��  | � 5  � � ��2	�$��3%4��T5	6��������	�%5[?¬���	�
3h�$��:���?¬����U+��6¢���	�Tr P%U+��4;� �axwbdU+��5[?���2	�$��3%4��T5	6��	��U+���f4�WXq��$2��13h�$��:���?"��� O �¢���	��~
rsP%U+��4;�*Ba��D � � k;DnmY; i 7�4$5	7�P+��UK7 3h�$��:���?¬��WX�Â�$����q$2���r P+���	P%��xe �T@-?�U+��6�����k�ÄjÅ£Ä<m � i ��� � k�ÄjÅMÈ 1sÊ$FTÊNËzm � i 	 ��2	��P+:�A�����xw9b����q$2���rsP+���	P
���.�	�$����2��	�M�$���hr<=�P%U+��4$5	7�P+�G���$��:�� 4 É75AÅ 4�6 5�� 4 Ê)5AÅ 4�6 5;� 6 |lÄ>xw9b����q$2���rsP+���	P
� � �$���Tr<=�P%U+��4$5	7�P+� ���$��:�� 4 É75sÅ 4�6 5A� 4 Ê)5sÅ 4 1 6 5;� 6 |§È 1AÊ$FTÊNË x

O Z � ¥#)�±£��¥#)'­� �±�«�³ ¥�§g¡F­£¢�­1³ ¥1(�¥�º�¥�®!­£¢'(�·�±�ª���±�)�°�­�§ê(�%�&'&'&�(�)�*�+�(�¤'¥¦¦ .



���������
	���
�
�����������������������������������	���
�� ����������!#"�
��$�
�&%'�)(�*+	��'��,-	.*/����"0����1����)23
�!

@£��U+��2	�$�	���$����q$2���r P+���	P � i k � i m � i �

� i B�BCB¾F 6 L�L�@�� B # BNF 6 L¾F P%U�5	�FB�|§È É�F �i L�dB # B 1�Ê$F 1 6 L¾F P%U�5	�FB�|§È �i FTÊNË x

@�2	PN=�U+�h��4��	� ��iu��� i�414���=�PA��q$Ð�PN=	���	P+����7 �	P+�	P+2	P%U%P+:;��ÑaM �#E;UK7f���	�Tr P%U+��4

� i @ 	 �<B � F � i @ �	 � � � F

	 @ ���TBEÄ¢Å 4 É75�L�@ 4 BCBNF 6 L�|�� i � 6 @}É75�F
B � @ � � BEÄGÅ BEÉ�FTÊNË�L.@ 4 BCBNF 6 L.|�� i � 6 �@¹É75�F
�	 @ � �sBEÄ Å 4 É75�L�@ 4 BCBNF 6 L�| � i � 6 @dÉ75�F

� � @ � �sBEÄ¢Å§È 1AÊ$FKÉ;L �RBEÉ�FTÊNË�L.@ 4 BCBNF 6 L.| � i � 6 �@¹É75 9
@-?�U+��6 4 �  @CBCB  F 6  L.|���i£5  � � -C�	��U�5�PN=��$4;����PN5	6��	��U+��6	�	U�E;�%=	7#M1��7�U'7¢:¢���$��:"P

� � @ BCB � F 6 � LN� 4��  @ BIO  F �  L | � i 5  � � - ��q$2���3Z�	��UK5�PN=��$4;����PN5	6��	��U+��� 4 �  5
��2��§�$����q$2���rsP+����� � i k �giMm � i�x>���$U%U3?¬r<=�P+����7 �������\5�� O ������WXP¢��2���4�PN=�P+����WX�
=�5	7Â=��$:;��3h����PN5	6�U+��4;�Ç3h�$��:���?¬����U+���¹�$����q$2���r P+����7 � � ����2���4��%=	7��Æ:d4�W�4��%=[?��X�����
�  m �3� @%� i BI� � LNx�GI�MP%U+��6¢�$����q$2���rsP+���	P�� i -0�	P+��2	P+2�W�4��	��x����b���U+�	�%5	6�3�?�P%�tU'7 �$����q$2���r P+����7���� � � k.D m ; i � � � k.D m ��i � O =�P
� � B�BCBNF 6 L�L�@CBCBNF 6 L.=�5	7 4�U%P�E�BCBNF 6 L.|lDp- 4$5��hrsP+���	Ph�N� � i k � i m � i =�5	7��	��U+��2	��~P+����7 ����Ð�P+:�����4��	� O �G�	P+��2	P+2�W�4��	� O �¢�$����q$2���rsP+����7 � i k�; i m � i$x9b����q$2���rsP+���	P�� � � �����sk�DF� � ml; i � ��S4�3h���	���	��~ �T=	�	�$3%���%���	� �13h�$��:���?¬�������\x P�x
�$��2	PN=�PN5�P+�	�A�	P+��2	P+2�W�4��	��Pu�$����q$2���rsP+���	P�� �z�� ��� � �
	� kk; i � �� moD � �ÇxH9b��2	PN=�PN5	�	�

� i � � � � 	� @%� i � � � �£B�� � � �����uL �z� k�; i � �� m � i 9

Ï����M�$����q$2���rsP+���	Ps����Ð�P+:�����4��	�����	�$�����/?������ � � �£B�� � � ����� L'�z�\BI; i � ���L�� �giw� 	1�
�l�$����q$2���rsP+���	P�� i ��� � ��
 k �gi�� 	 m � i�� �	n- 4�3h���	���	��~ �%=	�	�$3%���T���	��x
Wz�$�tP+���	���	�����

� � B � �z�� B�� �z�i B�BCBNFKÉ;L�L�L�L

@%� � B � �z�� B 4 B
B
# FKÉ;L&�ZB

B{PdÊ
# FKÉ;L85�L�L.@ � � B 4 B

B
# FKÉ;L&�ZB

B�P¹Ê
# FKÉ;L85�L�@CBCB¾FKÉ;L

��2��l5	Ñ�q���� Bj|�».�%�>�	�$/%�����/? �	�tP%P+��U%��WXU�5R=����$��2	PN=�PN5	����6 � � ��� � � ; i UK5�PN=[?;~ÑaM �	����q$2���3T����Á
� � � � B�BCBNFKÉ;L�L�@CBCBNFKÉ;L�| � i
9

ba����� O P �	�%5[?¬���	� ����Ð�P+:�����4��	��P �$����q$2���rsP+���	P � i k/; i m � i x @�2	�$4�P+2��	�CP O �
�	P+��2	P+2�W�4��	��U+��6	x

� ¥#)�±���¥#)�­� �±�«�³ ¥�§-¡m­£¢�­1³ ¥1(�¥�º#¥�®!­£¢�(�·¸±�ªk��±�)'°�­�§©(1%'&�&'&�(�)�*�+�(�¤'¥¦¦ . O �



��� ��� �����7(���!��

@-?�U+��6 BC� � i - ��2	�$��3%4��%5	6��	��Ps3h�$��:���?"����PA���	�TrsP%U+��4���x+@£�1�	��U+��2	��P+����Ñ
� �z�i BFBsL�@%� � B � �z�� B�� �z�i BFBsL�L�L 9

�8�	�TrsP%U+��4�� � �z�� B�� �z�i BFB<L�L 3h�$��:���?¬����� �h��:¼:;��: �$����q$2���rsP+����7 � � � � i �	P+��2	PN~2�W�4���W�xo@£��U+:"�T5	6�:�? � � - 3h�$��:���?¬����PR�$����q$2���rsP+���	P��u��� 3h�$��:���?¬��WX�07�4$5	7�P+��U'7
�¹���	�TrsP%U+��4�� � � B � �z�� B�� �z�i BFB<L�L�L @ � �z�i BFB LNx¹y�5	7���2	�$��3%4��T5	6��	� O ��3h�$��:���?¬��� O ����	�Tr P%U+��4;� B P O ����2	����q$2���3f3h�$��:���?"�����	�$/%�����/?��$����q$2���rsP+���	P � i k�; i m � i
�	P+��2	P+2�W�4��	��x
.���: ��3%4�P%U+���	�����	P+��2	P+2�W�4��	��P£����Ð�P+:�����4��	��PA�$����q$2���rsP+���	P£:¬��������:��h�<7�4$5	7�P+��U'7

O ���tP%���t�$2[=£��3T�t�������1U+4��$9l��q$2���3�����x P�xt4$5��Tr P+���	P%��x+@�2	PN=�5��hrsP+���	PA=��$:;��3h���	��x

�£�t�$�������������>� ���k� )+#%Y<c � )+Y¥#�\�)+Y<*	^tis*�!�e�('�u�¬!�#%#'&�($)+*	,	i � (�*	Yb��½>¶',�*	! 4 ? � @
BI; � FEH � F¾» � L85 � � � «£Y (�Y<!T&	]�*�^�)¢`��>(\#%Yb�"!$*	#%Y1c�!fv�(\Y<('�>^��Æ`�(\`	!¾�>*�( *�)%¶¾(+_A)+(+_�(K�¬·�[
*	^�«.½>c%&"½�º�Y<#'½��V[ `$�©(\#%Yb�"!$*	#%Y1c�!T_£,Ç,§ª%&"½ &	º�e�(�¶¾( ��|�� *�!�i�ª�)+Y<#'½Çª$c � _�)­�>*	($)
*�)+('�>,�)+*	Y<,$� � )K_�(�)�_�*	(�¶¾(�(\e'�"!hg�,�)ahRi� ,fc%&�(h¤¥)+*	,�)gj � kk; � mlhmi� °

y �f:Â�83l�l�ZP¢5Â6ZU �Z4R��x ���$U%U%�t�$��2��	�C�	P%U+4�7�3%�	��P ��q$Ð�PN=	���	P+���	PF; � @�
���� �
BI; i L � �1/%:�3TP%����5	7�2	�$4u��2	��U+��2����	U+��4;� ; i x{b.4�PN=�P%� ���./%�����l��2	��U+��2����	U+��4�P�U+��2�?¬:�~

��?¬2�? 2��$U%U�5���P+����7zxgWz�\=>�\=	�	�¹��2	��P+:�A���Ñ}H�k[; � mÍ»��TF�H�B�BCBNF 6 L�L�@RB+�>P%UK5	�ÂBCB¾F 6 Lu|
BI; i L � � �f@ Ê$F 9 9 9 F���x G���:}:;��:}�	P%U+4�7¬3%�	��P ��q$Ð�PN=	���	P+���	P ��Ã@

�
���� �
� � :"�$�	P+���	��~

O � ���	U�5>� /%:�3TP%����5	7�2	�$4l���	�hrsP%U+��4;� � O ���tP%���t�$2[=��	� ���	�TrsP%U+��4�? .��������$2�� �f=�5	7
��2	�$��3%4��%5	6��	� O � B�|8»��zH��z�hBCBKL�	 @ ������� BI;

� FEHIF¾»��NL�- 2��$U%U�5���P+���	P�@£�$����2;7 O ������x
ys�$:;��r P%���j�����§��2�� � � �@ � i ��2	��U+��2����	U+��4;� ;

� * ��; � � �	P O ���tP%���t�$2[=���W�x
@-?�U+��6	��������2��	�tP+2�� � � 59� i � , kQ; � � m ; � * - O ���tP%���t�$2[=£��3T��x�]�3 =��$:;��3h�\~
��PN5	6�U+��4;�£��P%�$2	P%��WdU�5�PN=[?�P+���;�����£����9�=�P+��U'7M4$5��Tr P+���	P-j¹kk; � * m �Ã��2	��U+��2����	U+��4;�
; � * 4<=	4�?¬�tP+2��	��P��	P%�$2��	P+������2�?�P%�t��Ps���	� O ����q$2���3%�	P � =���U+�h�����$���	�Mq��T5	6�Î � O �G2	��~
=>���V�h��:"��P¢�����lP O � ��q$2���3Nj£BI;

� * L�U%�%=�P+2"r1���R2	�$4��	� � � 3h�$��:���?¬��WQE�:�2���4�WQE �V=�5	7:;��r<=��$9¥��3�:¬�$���$2�WQE}2	P O ?$5	7¬2�����7¥�$:�2	P%U+���	��U+��6 O ���tP%���t�$2[=£���Æ5	�	U+��? �fP%q$��?�UT��x
9b����q$2���rsP+���	P jD��, k�; � � m � q0?$=�P+�§4$5��Tr P+���	P%��x 
£�Z:;��r<=���P8��3 �	�%=����	��~
rsP%U+��4ÆBI; i L � � ;

� � � �b@ Ê$F 9 9 9 F�� i �IU%�T=�P+2;r1�����V�	� :�2���9��	P+9 �tP+2	P��V�T=	��?R:�2���4�?"Ñ<�2	P O ?$5	7�2�����7§�$:�2	P%U+���	��U+��6R��q$2���3h� :¬�$���$2	�$9 O ���tP%���t�$2[=���� 5	�	U+��? �fP%q$��?�UT��x I 5�PN~
=��$4;����PN5	6��	���[j£BI; � * L�U%�T=�P+2;r1���<�	Pj�tP+��6�Î<P � i 3h�$��:���?¬��WQEM:�2���4�WQE �"��q�5>�\=>��ÑaM �#E/%���	�ÂU+4��$9	U+��4�����x
@£�T5[?"�	P+���	��Ps��2	�$����4��$2	P+���	P�3h��4�P+2�Î1�$P+�M=��$:;��3h����PN5	6�U+��4���x
@¹2<�1�RP�2 e x ���$U%U%�t�$��2��	� U+�	P+����W�91���$q��$21�	P%�$��2���A�����PN5	6���WQE
A	PN5	WQE ���	U%PN5

� @QB�� � F
� i F 9 9 9 F
� � F 9 9 9 LN� � � | ! �.�©�h��:"�$9Z�����
�
"��� �
� � m � ��2����Æm � x I :;��rsP%���

����� ���$q��$2�W � � � @¡B�{ � F'{ i F 9 9 9 F'{ � F 9 9 9 Lu2���4���WÃB � @ � LN�IP%U�5	� � � @ { � ��2���4�U%P�E��| �Zxw9uq��$3%���%���	�dU%P%�tP+9	U+��4��M4�U%P�E��h��:��#E ���$q��$2	�$4M�	P+2	P+3�
�x

O�§ � ¥#)�±£��¥#)'­� �±�«�³ ¥�§g¡F­£¢�­1³ ¥1(�¥�º�¥�®!­£¢'(�·�±�ª���±�)�°�­�§ê(�%�&'&'&�(�)�*�+�(�¤'¥¦¦ .



���������
	���
�
�����������������������������������	���
�� ����������!#"�
��$�
�&%'�)(�*+	��'��,-	.*/����"0����1����)23
�!

I �$�	��U+�h��4��	�}���$q��$2�? � | 
SU+�	U+��P%�/? 4 µ 1 5 1 � � O ���tP%���t�$2[=£��3T�t�$48µ 1 k>��mÍ���
�	�%5��Tr1��4

µ 1 @ �  k��RmÔ��FjP%UK5	� <��
 �z�

�&� �

� � P}Ê�� < �  

��� �

� � 9

@£��U+��2	�$�	�Q�	��U+�	U+��P%�tP��$����q$2���r P+����9 4 µ 1 5 1 � � O ���tP%���t�$2[=���3T�Sµ � k�� m �p�
2��$U%U�5���P+���	P�@£�$����2;7 O �����G? � @pBI; � FEH � F¾»��NLNx+@�2	��U+��2����	U+��4�� ; � E���2���:���P+2���3�?�P+��UK7��P%�����������	P+��2	P+2�W�4���WXPX����Ð�P+:�����4���WXPb:�2���4�WXP � � k¬» � m ; � � ��|����$=�5	7<:¬�$���$2�WQE
� � B¨»��¾LG@9� � B �uÅ 4 i� $ 5�L 7�4$5	7�Ñb��U'7 �j~¨:�2���4�WX���¼���Æ=>��r P 	��j~¨:�2���4�WX��� ��2��=� �
� � PÆÊh�Nx .�2���4;��7-�8k¬».�.ml; � �;=�5	7G:¬�$���$2	�$9 � � B¨»��NLt@�� � B �IÅ 4 É75�LN�	7¬4$5	7�P+��U'7 	��j~:�2���4��$9�����2����	P%��4M��2	�$��3%4��%5	6��	�$9R�$:�2	P%U+���	��U+���'B0���	�hrsP%U+��4;����B¨» � L.=�5	7�5	Ñuq�� O �
�����	P+2	PN=f3h�\=>�����	� O �¢���	U�5>� � | � ����9�=�P+��UK78����Ð�P+:�����4�����7l�	P+��2	P+2�W�4�����7l:�2���4;��7
� k"» � m BG���h��:;��7������ ����

� � B H � � � L
� � B H � �/��L

����
- � 9

� ���$���/�f���;���V���>�A�A� #%Y ] ? � @ BI; � FEH � F¾»��NL'«�?�� @ BI;��>FEH��>F¾»��NL � ª�c�!¢�"!$#%[
#'&	($)+*	,"½ � (�*	Yb��½>¶',�*	!s,�gs`$�>,"_A)­�"!A¯¬° � �>(�#%Yj�¬!�*�#%Y<c�!-; � ,^;��l*�)u¶'(%_�)+(%_£('�¬·t*�^¦¨v�!$v�Y<(\`	(%&�(�¶¾,[\�)+#%v�,�)£`$�©(\#%Yb�"!$*	#%Y1c�!N´<`��>, � �@ � °
y �R:��f3l�R��P 5Â6�U �Z4���x @�2	PN=	�	�%5��Tr1�	���jU3?fM<P%U+��4�?�P+� O ���tP%���t�$2[=£��3T�

�dk[; � m>;��>x-GV��:R:;��: � �@ � �©����9�=�P+��UK7 "f| �Z�>=�5	7f:"�$���$2	� O ���  �@C{  xa@-?�U+��6
�  - {  xN���$U%U%�t�$��2��	� :�2���4�WXP

� 1 k"» � ml; � F < @
 �z�

��� �

� � P¹Ê$F 9 9 9 F
 

��� �

� � 	

� 1 k � i��
� K
�mÍB 4 B�5�F #� 1 L

� �#E���q$2���3%Wm�`� � 1 k�»���m ;��>� <<@  �z�"��� �
� � P¹Ê$F 9 9 9 F  "��� �

� � ��2�� O ���tP%���t�$2[=£��3T�tP �.x
�h��@£�$:;��r P%���������l��� =�5	7§�T=	�	�$9§��3¢:�2���4�WQE � 1 �	PG�t�hrsP+�R4�W��	�%5	��7���6�U'7Ç2��\~

4�P+�	U+��4�� �N�/� 1 B¨»��¾L�@����zBEÄGÅ 4 É75�LA��3+=�P%U+6���� k�Ä¢Å �Rml;��M- ��2	��P+:�A���7	�Nx
@-?�U+��6G/%���G�	P£�h��:��	�:�:�/� 	 B¨» � L�@ ���©BEÄ�Å 4 É75�L�=�5	7 �	P+:"�$���$2	� O � � | 4

 �z�"��� �
� � P

Ê$F 9 9 9 F  "��� �
� � 5;x<
���9�=�P%�}�$:�2	P%U+���	��U+��6 � � :�2���4��$9 � 	 � �h��:�?¬Ñ ������q$W =�5	7R:;��r<=�� O �

����Ð�P+:�����4��	� O �A�	P+��2	P+2�W�4��	� O � �$����q$2���rsP+����7 �Zk¬» � m � � 4�W��	�T5	��7¬5	�	U+6s2���4�P+�	U+�$~
4;� ����

� � B H � � �VL
� � B H � � � 	 L

����
@ ����

� � B H	�-���`� �VL
� � B H	�g���N�/� 	 L

����
@4" 9

� ¥#)�±���¥#)�­� �±�«�³ ¥�§-¡m­£¢�­1³ ¥1(�¥�º#¥�®!­£¢�(�·¸±�ªk��±�)'°�­�§©(1%'&�&'&�(�)�*�+�(�¤'¥¦¦ . Ok¨



��� ��� �����7(���!��

���$U%U%�t�$��2��	� �$:�2	P%U+���	��U+��6n��B�� � Lt@4B � ���	�Tr P%U+��4;� �N� � 	 B¨» � L�@���� BEÄ¢Å 4 É75�LNx
.���:¼�$���tP+�	P+�	��4�W�Î P�������9�=�P+��UK7 �	P+��2	P+2�W�4��	��P§����Ð�P+:�����4��	��PÇ�$����q$2���rsP+���	P�� k
»��.m B � ���h��:"��P������ ����

� � B H	�g���	L
� � B H	�-���`� � 	 L

����
�("�P}Ê 9

.�2���4;��7 �8@ � �z� ����k"» � ml; � ��q�5>�\=>�$P+�M��P%�ÂU+4��$9	U+��4���������������B¨» � L��
� � �

"G@ ����
� � B H � � �VL
� � B H � � � 	 L

����
@ ����

� � B H��g���N� �VL
� � B H��g���`� � 	 L

����
@ ����

� � B H	�-���	L
� � B H	�-���N�/� 	 L

����
9

@£�%5[?¬����5	�l��2	�$����4��$2	P+���	P U���P%��������� �§k�; � ml;��M- O ���tP%���t�$2[=£��3T��x
e � � ���\5�� O �����	� =��$:;��3%W�4;�$P+��UK7z�	����� ��� =�5	7 �T=	�	�$9 ��3�:�2���4�WQE � 1 � < @

 �z�"��� �
� � P

Ê$F 9 9 9 F  "��� �
� � ���	Ps�t�TrsP+� 4�W��	�T5	��7���6�UK7f2���4�P+�	U+��4��n�:� � 	 B¨»��NL�@ ���©BEÄ�Å 4 i��� 5�LX��2��

� �| 4  �z�"�&� �
{ � P§Ê$F 9 9 9 F  "��� �

{ � 5;xw9b�T5	�����	P�U%��U+���$��� ���%5	6�:"� 4s�������;�����A=�5	7M��2	�$��3%4��%5	6$~
�	�$9 ����Ð�P+:�����4��	�$9Æ�	P+��2	P+2�W�4��	�$9Æ:�2���4��$9��Çk�» � m ;��©�I5�P+rA�)M<P+9 4 =���U+�h�����$���	�
���\5��$9l�$:�2	P%U+���	��U+���R���	�Tr P%U+��4;� �N�/� 	 B¨»��NLN�¬=��T5	r1�	�M4�W��	�%5	��7���6�U'7l2���4�P+�	U+��4��

����
� � B H��-����L

� � B H��-� �n� � 	 L
����
@%" K

��2�� �	P+:¬�$���$2	���(" K �@%" x
���/G���:Gr P��;:;��:M�G4���2	PN=�5��Tr P+����� � �;�	�$:;��3%W�4;�$P+��UK7z�¬�����£���G��2��G:;��:"����� | �

�	P£4�W��	�T5	��7�P+��U'7l4�:�5	Ñu�	P+���	P&�`�/� 1 B¨»��NLt@����zBEÄ¢Å�BE� MZB i� � F �� � � * Ë�L�LNx
Z"�Q]�3sU+:;��3h�����	� O �G4�W�Î<P�U�5�PN=[?�P+���������M=�5	7�5	Ñuq�� O � � | 4

 �z�"��� �
� � P}Ê$F 9 9 9 F  "�&� �

� � 5

����9�=�P+��UK7��<| 4  �z�"��� �
{ � P Ê$F 9 9 9 F  "��� �

{ � 5;�$�h��:¬��P.�����.��� � 	 B¨» � L�@����©BEÄ�Å 4 i��� 5�LNx/GV��:<:;��:
���	�Tr P%U+��4;�-� 1 B¨» � L��	P��	P+2	P%U%P+:;��Ñu��UK7z�©���M�8�#E ��q$2���3%W¼��2�� O ���tP%���t�$2[=£��3T�tP^�Æ�	P
�	P+2	P%U%P+:;��Ñu��UK7zx�
£� � � ! � 4  �z�"��� �

� � P Ê$F 9 9 9 F  "��� �
� � 5£@ �  - {  @ 4

 �z�"��� �
{ � P Ê$F 9 9 9 F  "��� �

{ � 5;x
@�2��#E;�%=	�	� : ��2	�$����4��$2	P+����ÑpU���P%��������� �§- ����Ð�P+:�����4��	��PA�$����q$2���r P+���	P�x
b}UK5[?"���$P��>:"� O =>���  5d{  ��4�U%P���2���4�PN=�P+����WXPs4�W�Î PA2��$U%U3?"r<=�P+����78��?"r1�	�M�	�$4$~

���$2�����6M=�5	7 O ���tP%���t�$2[=£��3T��� � �z� k�; �1ml; � x@�2	PN=�5��hrsP+���	Ps=��$:;��3h���	��x
� ���$���H�����"�V���	��������� )+#%Y1c � )+Y v;(\*	Y<,	* ��� _ �"!$#%#'&�(�)+*�,	i � (\*�Yj��½�¶¾,	*	!

4 ?
�
@ BI;

�
FEH
�
F¾»��¾L85

�
��
X«MY<!$v�,7� \"Y<(§,7�}Y<(�Y<!%&�]�*	^�)8`$�>(�#%Yb�"!$*	#%Y1c�!§`	(�`	!¾�>*	(

*�)�¶¾(+_A)+(+_�(K�¬·�*	^d¦ v�!$vMY<(\`�(+&�(�¶¾,[\�)+#%v�,�)b`$�>(�#%Yb�"!$*	#%Y1c\!N´\«�,�`$�>,G&�º�e�(+_ � | 
Ã*�)
*	!$i	ª$)+Y<#'½Z`	!¾�>^¥BIhmi$F�jXL'«�¶¾ª$).hmil�Qª�c � _A)­�>*	($)�_�*	($¶'(�(\e'�"!hg�,�)�¦ *�)A(�e%½¬g�!$Y1)K&�]�*	(
('�>,�)+*	Y<,$� � )K_�(�)³´\« jdk�; � m hmi��Qc%&	(\¤¥)+*	,�)h°

OPO � ¥#)�±£��¥#)'­� �±�«�³ ¥�§g¡F­£¢�­1³ ¥1(�¥�º�¥�®!­£¢'(�·�±�ª���±�)�°�­�§ê(�%�&'&'&�(�)�*�+�(�¤'¥¦¦ .



���������
	���
�
�����������������������������������	���
�� ����������!#"�
��$�
�&%'�)(�*+	��'��,-	.*/����"0����1����)23
�!

yÔ� :d�Z3R�Z�ÇP 5 6ÇU � 4Ç��x ���$U%U%�t�$��2��	�0U%P%�tP+9	U+��4��Ç2��$U%UK5���P+����9 4 ? � @BI; � FEH � F¾».�NL85 � ��
R��3���2��	�tP+2�� e x�GI���$�����u�#E����$�h�\5	6���WXP.��2	��U+��2����	U+��4;�u�	�$����2��	�b�	P
O ���tP%���t�$2[=£��W���=��$:;��3h���	��4u��2	PN=�5��Tr P+����� ¨ x .���r<=���P���3.���$�h�\5	6���WQE<��2	��U+��2����	U+��4
4 ; � 5 � � 
d/%���#E82��$U%U�5���P+����9Z7�4$5	7�P+��UK7 	��j~¨��2	��U+��2����	U+��4����¹��� U%� O 5>�$U+�	� ��U+�	�$4��	�$9��P%�$2	P%�tP��>�	PA4�:�5>�\=	W�4;�$P+��UK7R���l4¢:;��:"��PA=	4�?¬�tP+2��	��P ���	� O ����q$2���3%�	P�xg9uU+�h�\5���U+6¢=���~
:;��3h����6	�	�����#� � !:� 4 ; � 5 � ��
�@ ��� � B � � � � ��x
@£��U+��2	�$�	�¹U%���$��4�P+��U+��4��	P��ak 4 ; � 5 � � 
 m È É�FTÊNË��¹Ì8x @£��U+�h��4��	� 4¢U%���$��4�P+��U+�$~

4��	P���2	��U+��2����	U+��4�?n; � � � @CB�� � F
� i F 9 9 9 F
� � F 9 9 9 LN�¬=�P+9	U+��4�����PN5	6��	��P����	U�5�� 6 |§È É�FTÊNË ��h��:"��Ps����� 6 @ "
1 � �

�� � ' 6 1 � 6 1 | 4 É�FTÊ$F 9 9 9 F��f5s� � 1 
 6�1 B
�����lÊ%É;L���2�� 4�U%P�E <¢| �Zx
@�2	PN=�5��TrsP+���	P ¨ �	�$:;��3%W�4;�$P+���������MU%���$��4�P+��U+��4��	P�� �$��2	PN=�PN5�P+�	�M:¬�$2�2	P+:����	��x
@-?�U+��6 6 @ "

1 � �
�� � ' 6�1 � 6�1 | 4 É�FTÊ$F 9 9 9 F��f5M-¡3h�����	U+6 ��2	�$��3%4��%5	6��	� O �8/K5�P%�tP+���h�

�$��2	P+3%:;�dÈ É�FTÊNË�4§=�P%UK7��������	�$9¥U+�	U+��P%�tPRU+���	U�5�P+����7zx�_��	UK5�� 6 7¬4$5	7�P+��U'7d��q$2���3T���
��2	��U+��2����	U+��4;�^; � � O =�P � @pB�� � F
� i F 9 9 9 F
� � F 9 9 9 LN� � 1 @ 6 1 PÂÊ%É<��2���4�U%P�E�<G| �ZxH]�3/%��� O � UK5�PN=[?�P+�\������� U%���$��4�P+��U+��4��	P	�¥U+Ñu2�Ð�P+:�����4��	� �	� � ! � 4 ; � 5 � � 
Æ@ ��� � B)� � � � ��x
@�2	PN=�5��Tr P+���	PA=��$:;��3h���	��x

�A�V� �k��
��t� ���;� � �
�����
�������������������� �!#"%$&��' æ�(?Á�Ö%)�Ð�Ð Æ�Ègß�Á�È�ÊÙÁ�Ä�Ç�Ð�Ð½ä+*{Á�ÊÙÁ�¿�Ä�Ç-,�ä/.FÐ%010DÁ�Ç�Á�Ï2)�Ð�Ë�À�Ñ�Ï�Ë�ÅÕß�Á�È�à

ÊÙÁ�Ä�Ç�Ð�Å½ä43?Ë#Ã�Ö'Ë�æ65êÈ�¿ Ö�Í�Ë9Û �87:9&9 á æ;, 7:< ¿�ä
�>=��@?BAC��DE�/F�GIH6H
" æ+JOÉ'óAË�ÅTÄ�È�Æ�È#À�È�ß�Ð1Å½äK3?Ë#Ã�Ö'Ë�æ65êÈ�¿ Ö�Í�Ë9Û �87&92� á æ6,&L = ¿'ä
� L �	MN�OMP�RQ�GIS1TKU#$:"%V æ&W�È'Æ�È#À�È�ß�Ð�å�Á�¿ Ö�Ð�Á"Í'È�Æ�Ç�È�¿ ÒÕÄ�Á�È�Ç�Ð�ÐDÂ�Ð�Ï�Ë'ÊÙÐ�å�Á�¿ Ö�Ð1Ó ¿ Ð�¿�Ä�Á�ÊZä8XZY"¿ Æ�Á�à
Ó�Ð�ÊÌË�Ä#ä�Ï�Ë#Ã�ÖgÛ �[7 , 7 á�æ1Ä#ä2\^]mæ�Í'Ò;Æ�ä < Û_L:,�á æ�¿�ä 7&`�a
��b L�ä

� , �	MN�����dceHfG�$&�8G�G�' æg*{Ð�ÊÙÍ'È#À�Ð�å�Á�¿�Ö'Ë�ÅiÂ�Ð�Ï�Ë'ÊÙÐ�Ö'Ë�ä ¾Dã�Â�Ë'Ï�Ð�Á�¾DÏ�¿ Ä'Ð�Ä�Ã�Ä�ËiÊÌË�Ä'Á�ÊÌË�Ä'Ð�Ö�Ð
h 3ZYP*i*�jÙæ�ÚDÐ�Á�ÍêÛ �[7;kl< á�æ =6��= ¿�ä

�>b��mFn�#o�prqf$tsvuN�+wyxt!#z�G{q/����! æ/|\Í'Á Â�Á�Ï�Ð�Á;Í?Ö�Ã�¿�È'å�Ï�ÈeÀ�Ð�Ï�Á�Ô�Ï�Ã�×�Ä�È'Æ�È#À�È'ß�Ð�×Fä
5êÐ�Ç½æR5êÈ�¿�Ö�Í�Ë
Û �87Rk ,�á�æ =t`&9 ¿'ä

� ¥#)�±���¥#)�­� �±�«�³ ¥�§-¡m­£¢�­1³ ¥1(�¥�º#¥�®!­£¢�(�·¸±�ªk��±�)'°�­�§©(1%'&�&'&�(�)�*�+�(�¤'¥¦¦ . O10



��� ��� �����7(���!��

��� 
���� 
��	�	
 ��� ��
�� �����������	��� 
�� ��
�
�
�� 
����	 � �!� 
�� ��" 
��
�#��
$�%��� 
'&�
��)(*�)( 
�+,� � � ����� 
��������#
-
$� 
��.
 � �/& ��01�!
2� 
 � �)
 � � ���

�3� � 
$
 ���$���

4Xx65 x�798;:=<�:=>�?%@�A
B!C�DFEHG-IKJHLMD1NOI)P�Q)RSDTNUJHDTVHVHWXRHYZI)P\[�I�[]Q�L_^-E�Q)`1DT^UI)P_PaWMJHD1GbJ�cHR�VdLMDT^,I)e;D1GfQ

`1WXG]`gLMDihjWX[-C�[-CHD9k	Q�RH[-I)Gl^-Dg[mQK^�Q9PaWXJ�D1G;ÛanoIKRd[-G�pdQ�YKWXR�JHc�R�VdLMDT^�á�WMRq[�hjI�àrVdWXNUDTR�^sWMI)RtQ�L
NfQ)RHWuPaIKLMV�^\Wv^wWXR�e%Dx^y[�WXY%Q/[�DTV-äqB!CHDU^-cdP=PaWM`1WXDTRd[q`gIKR�VdWX[-WMI)R�Wv^wI)Jd[]Q�WMRHDTVFPaI)G�RHI)R�DgzdWM^�à
[�D1R�`1D9I�P�Qw[-hjI'à2VHWXNUD1Rt^sWMI)R�Q)LdNfQ�RHWXPaI)LvVhô õ Q�R�V{WMR�`gLMc�^-WXIKRUNUQ)ET÷iø'è=ú ô õ PaI)G
[�I�[]Q�Lo^-E�Q)`1Dmè|I�Po[�CHDUnoI)Rd[�G-pdQ)Y)WMR�JHcHRtVdLXDNéTë ì�èêíïî�í�ð ñ ò ä�}#DfQ�Lv^sI~`gIKR�^s[-G�c�`�[
[�CHD�Dgz;[�D1R�^-WXe;Dq`1LMQK^-^	I�P�^-E�Q)`1DT^!^-Q�[-Wv^yPap;WMRHY{[-CHDq`1I)R�VHWu[�WXIKR½ä

� ��� �v
I� �"���;���i� �7� � �¬�j�������Æ���T� ���#��� 
 ���T����� ����� � ���	�
� �"� 
 �"�/� ����� ����� � �b�T�f�Ç��� �#� ��� �#��� �

�Z� �$� �>� � 
 �V� 
 �u�T����� �����t�
� x 9 x[@£�%5[?$5	77E

.FÈ�¿�À�W Â�ÎQÃK��Ä�Ñ�¿�Å Æ�Ç�È'É�À�Á�ÊÌË�Í'Ö�À�Ë#Â�Á�Ï�Ï1Å Ä�È'Ä�Ë�À�Ñ�Ï�Ð1Ó Æ�Ç�È�¿�Ä�È'Ç�WtÍ Ç�È�ã�üAË�Ç�Ã�à
Í�Ë�Ï�Ñ�Ï�Ë�Â�Ö�È#À�È�ÊdãNümË'Ç�È�Ê ÊÙÏ�È#ÎQÐ�Ï�Ë�Ú?Ë'Ï�Ä�È'Ç�ËgÛ�Ç�È'ã�ümË�Ç�Ã�Í�Ë�Ï�Ñ�ÝDÈ'Ï�Ä�Ç�Å�ß1W Ï�Ë�á
ÍÞÂ�Í�È'Í'Ð�ÊlWtÇ�Ï�WZÊÙÏ�È'ß�È�Í'Ð�Â�Ð½ä JOÄ�Ç�Ð�ÊÌË'Ï�ÈÞÂ�È�¿�Ä�Ë�Ä�Ï�×aÃ�ÊÙÈ�Í'Ã�Ä�È�ß�È�æ	óFÈÞÂ�À�ÅJÄ�È'à
Ä�Ë�À�Ñ�Ï�È'ß�ÈXÆ�Ç�È�¿�Ä�È'Ç�ÃÕè Ç�È'ã�ümË�Ç�Ã�Í�Ë�Ï�Ï�ÅÞÝDÈ'Ï�Ä�Ç�Å�ßTWtÏ�ËXéêëaì�è©í�î�í�ð	ñ òeÏ�ÁfW ¿�Ï�ÃK�
Â�Í'È'Í�Ð�ÊlW Ç�Ï�È'ß�È ÊÙÏ�È'ß�È'Í'Ð1Â�Ã ô õ Ð Í'Ö1À�Ë#Â�Á�Ï�Ï1Åj÷føZè úcô õ ä�ÝDÈ'É�Ã�Â�È�Í�Ë'Ï�È
Ä�Ë�Ö�È#Î ümÐ�Ç�È'Ö�Ð�Ô9Ö�À�Ë'¿DÆ�Ç�È�¿ Ä'È'ÇHW Í�æ1ómÈAã�Ë#Â�È�Í'È#À�Ñ�Ï1Å�×VÄ'ÑE)HW Ô�Ã�ÊÙÈ�Í)W ä

0 � � ¥#)�±£��¥#)'­� �±�«�³ ¥�§g¡F­£¢�­1³ ¥1(�¥�º�¥�®!­£¢'(�·�±�ª���±�)�°�­�§ê(�%�&'&'&�(�)�*�+�(�¤'¥¦¦ .


